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Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367355
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983675805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster which is related to third letter cluster in the same way as the second letter cluster is related to
first letter cluster.

HOTEL: DMPCH ; : SCHOOQOL : ?
Options:

1. « OYDMMI

7 » OYDMMH

3. % PYEMMH

A % OXDMMI

Question Number : 1 Question Id : 9983675805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I¢ U TEE IA S A IO W T I RE T TS . W e ¥ g7 IO THE TeT 07 W @
Taoa gl

HOTEL : DMPCH : : SCHOOL : ?
Options:

1. « OYDMMJ

2 » OYDMMH



3. % PYEMMH

4. %« OXDMMI

Question Number : 2 Question Id : 9983675806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number which is related to third number in the same way as the second number is related to first number.

2242: 28:: 1424: 7
Options:

1. = 35
7 % 36
3.v 37

Question Number : 2 Question Id : 9983675806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IF T g S AEd TE ¥ 3 e ¥ FElhT B, Bw Re ¥ oEd gew wge gEm ¥ wefig

2242 : 28 :: 1424 : 7
Options:



3 v 37

Question Number : 3 Question Id : 9983675807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four number pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. « 118:61

7 % 334:168

A % 622:312

Question Number : 3 Question Id : 9983675807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v ov IR dEmr oAl # ¥ A9 v 3lS @ 5 ¢, Sl 39 ¥ vw e g1 sh § fawa T4

Options:

1. v 118 : 61

2 % 334 : 168

3. » 252 : 127



4. % 622: 312

Question Number : 4 Question Id : 9983675808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a figure from the options figures that would complete the figure matrix.

&
X
@

Options:

1. =

TR BEW

4, v

Question Number : 4 Question Id : 9983675808 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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&[]
*

X |4
Dl

Options:

TR B M

Question Number : 5 Question Id : 9983675809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four letter cluster pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1 = COUNTABLE : JQKYRAHXW

? % DEFORMITY : KBAZPUPE]



3. « INSPECTOR : LOJECOKPZ

4. » EMULATION : HQIAYJKEP

Question Number : 5 Question Id : 9983675809 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fow o AW oeg T H & AT v aF ¥ 7AF §, 90 59 F TF W9 g1 A ¥ A T

Options:

1. = COUNTABLE : JQKYRAHXW
2. = DEFORMITY : KBAZPUPEI
3. ¢ INSPECTOR : LOJECOKPZ

4. = EMULATION : HQIAYJKEP

Question Number : 6 Question Id : 9983675810 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the figure amongst the option figures which has the same characteristics as the two Problem figures have.

Problem Figure:

J||@)

Options:




2. %

3. %

4. v

Question Number : 6 Question Id : 9983675810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g Iwfous Fiadl 7 ¥ a8 wepfa g4 Sras srffreremor & goea smpfadt & waa 2
wee 3HTpfar:

| @

Options:




Question Number : 7 Question Id : 9983675811 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four word pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. » Boring:Dull

2 w Clean: Spotless

3. = Difficult : Arduous

4. » Sluggish : Rapid

Question Number : 7 Question Id : 9983675811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o o 9w oeg T # & A9 v gF ¥ 7AF g, 9 598 F TF I’ g1 A ¥ A T

Options:



Question Number : 8 Question Id : 9983675812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Two different positions of the same dice are shown below. Which symbol is on the face opposite the face showing *5°?

Options:

1. % #

Question Number : 8 Question Id : 9983675812 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



TF & IEE (TH) # o Pt Tt A o e g S Rue o wew & e e vee W
Rffaa gde 9ar &
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Options:

1. = #

Question Number : 9 Question Id : 9983675813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following patterns of the dices can be formed when the sheet given below is folded?

6
3|15

a4

2
1 4 2 3
%]l 1} 55 il

Options:
1. » Onlyland3



? w Only3and4

3 % Onlyl.2and4

4]  Onlyl 3and4

Question Number : 9 Question Id : 9983675813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s= &1 71 fie FF Bies R ST , 99 SR (TH) F Yeal # § FiA I e 7 FFhaT 82

6
3|[1]5

4

2
1 a 2 3
34 :1.2 65 Ez

Options:

1. = aer 1 3R 3

2 x HEIF 3 3R 4

3w waer 1, 23R4

4. o HFer 1, 33R4

Question Number : 10 Question Id : 9983675814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Devansh starts his journey from his home and goes 29 m towards East. From there, he turns right and walks 14 m. From
there, he turns left and goes 19 m and then he turns left and walks 27 m. After that he turns left and walks 18 m. He
finally turns right and walks 13 m and reaches his shop. What is the approximate shortest distance between his home
and shop?

Options:
1. v 40m

? % 50m

3. % 60m

4 % 70m

Question Number : 10 Question Id : 9983675814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gAY A TR F HTAT FHEL YE HFAT § HX 29 m 9@ Fr 3R To &1 9@ F I@ T HT J5A 14 m
AT g1 FE W Tg qs AN {19 m T ¢ AR Y 518 3R A5 27 m Foar | 36 € T
9 AN I 18 m Torar §1 3T H I % AN H 13 m T ¢ 3R A9 g W O9gS S g
38% W AR 3T gES & @ H @iedeme weTaHm gl 9T H

Options:

1. v 40 m
2 % bB0m
3 % 60m
4 = 70 m

Question Number : 11 Question Id : 9983675815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which number will replace the question mark (?) in the given matrix?

42 | 6 |2 906
18 69
17 | 2 |42

Ln

Options:

1. = 77

? & 76

Question Number : 11 Question Id : 9983675815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

feT 17 3megg F v RET (7) F T W T A qEIr Iwen?

42 | 6| 2 | 96

18 | 5| 3 | 69

17 | 2| 4| ?

Options:

1. = 77

2. v 76



Question Number : 12 Question Id : 9983675816 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Eight friends Arva, Akram, Rachit. Pratham, Rupal, Virendra, Carol and Anthony are sitting around a round table facing
the centre. Arva is not sitting near Rachit. Akram is second to the left of Anthony. Rachit is second to the right of Carol.
Pratham is sitting exactly to the right of Anthony. Rupal is sitting between Akram and Rachit. Arva is at fourth place
from Virendra’s left.

Which of the following statement is NOT correct?

Options:
1. « Virendra is third to the left of Akram and third to right of Carol.

? % Rachit is sitting between Rupal and Virendra.
3 u Akram is sitting between Arva and Rupal.

4. % Rachitis at equal distance from Anthony from both the ends.

Question Number : 12 Question Id : 9983675816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

% &1 a1 T F oo 78T 987 &1 HeE UUET ¥ 9% HY g TE W 99T g1 W W waw
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Options:

1 o W FE F TR AR S TE W AR R F g @R S e ) g



2w T w9 3R A & @i For B
3. x HEH AT AR FO F T # 2T g

A » U9 S TE F AN R FAH g W B

Question Number : 13 Question Id : 9983675817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight persons P, Q, R, S, T, U, V and W are sitting around a circular table at equal distance clockwise from each other
facing the centre. Q interchanges his position with T. Now. if W is facing North then which direction is Q facing?

Options:

1. %= South - east
? « South - west
3 % North - east

/. % North

Question Number : 13 Question Id : 9983675817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Eea P, Q, R, S, T, U, VAR W o8l ff §3 & HJER, TF gEY & THA g HT
IR TF AR & W T MR 8 & IR AR 83 &1 Q J9=T1 TUH T & WY §gaf
oar g1 afg W 3eaT Fr 3T 2, ar Q e e fr s &2

Options:

1. = afeor - 9=

Y




Question Number : 14 Question Id : 9983675818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four travelers Tanva, Nisha, Dushvant, and Neeraj have to take their buses for one of the destinations Kanpur, Agra,
Faizabad and Lucknow. The Buses’ timings are 7:00 a.m., 8:00 a.m., 9:00 a.m. and 10:00 a.m. The first bus will depart
for Agra. Neeraj does not travel to Agra. Nisha does not travel to Agra. Neeraj departs before Nisha. The second bus of
the day is for Lucknow. Tanya travels by 10:00 a.m. bus. To which city and at what time Neeraj will depart?

Options:
1. ¥ Lucknow — 8:00 a.m.

? % Faizabad — 9:00 a.m.

REE" Kanpur — 10:00 a.m.

/] % TFaizabad — 10:00 a.m.

Question Number : 14 Question Id : 9983675818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR FER arean, e, goua d#R AR # FR, 3R, e 3R awes § ¥ v aw
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Options:

1 v qEAF - gag 8:00 T



5 . EE - FEE 9:00 &

3 % FER - gE 10:00 5=

A x PAEE - FEE 10:00 T

Question Number : 15 Question Id : 9983675819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P is the wife of Q. who is the only child of R. S is the grandson of R’s wife.

How is S related to P?
Options:

1. ¥ Son
? % Father

3. % Brother

/. % Nephew

Question Number : 15 Question Id : 9983675819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P, Q & 9T §, St R &7 Saalldr Gare §1 S, R Fr gt F S1anggar 2
S, P & & mefag &2

Options:

1. v &1



Question Number : 16 Question Id : 9983675820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four statements are given, followed by three conclusions. The symbols used in them have meanings as follows:
P (@ Q means P is neither smaller than nor greater than Q.

P # Q means P is neither greater than nor equal to Q.

P & Q means P is neither smaller than nor equal to Q.

P % Q means P is not greater than Q.

P $ Q means P is not smaller than Q.

Now read the following statements and decide which of the conclusions is/are true.
Statements:

s@z

T#Q

S&P

P&J

Conclusions:

L S&I
I Z&J
L. Q@P

Options:
1. « Only conclusionIand IT is true.

2 % Only conclusion II and IIT is true.

3 % Only conclusion I and IIT is true.



4 = All conclusions I, IT and IIT are true.

Question Number : 16 Question Id : 9983675820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 17 Question Id : 9983675821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three statements are given, followed by four conclusions numbered I to IV. Assuming the statements to be true even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the

given statements.

Statements:

All chalks are boards.

Some boards are pens.

All pens are pencils.

Conclusions:
I.  Some pens are chalks.
II. Some pens are boards.
III. Some pencils are pens.
IV. No pen is chalk.

Options:
1. % ©Only conclusion II and III follow.

? % Either conclusion I or IV follows.

3. % Conclusion II and either I or IV follows.

41« Conclusion IT and III and either I or IV follows.

Question Number : 17 Question Id : 9983675821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 9983675822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of six persons is to be selected from among five boys, K, L, M, N and O, and five girls, P, Q, R, S and T, such
that there are at least three girls in the team and it meets the following criteria:

i. Qand T cannot go together.
ii. M and O must be together.
iii. K and M cannot be together.
iv. M and Q must be together.
v. P and K must be together.
Which of the following teams can be formed?
1. KPQMOR
2. LRSMQO
3. RSTKPL
4. SKMRQO

Options:
1. = land3

? « 2and3

3 % 3and4

4 = 1,3and 4

Question Number : 18 Question Id : 9983675822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



gra @R K, L, M, N33R O, ik ser as™FaT P, Q. R, S 3R T & ¥ 5 39 7R & og 1 &
T I § & O # F7 § FA da asha & AR el Awes @ e an

i. Q 3R T v Ty FE & Tl

i. M 3T O T Ty g7 =R

iii. K 3 M & @1y F@7 & T

iv.M 3R Q v g1y @ mfge

v. P 3k K s @y 2= =nfgo)

SHH ¥ FHia G FheT T TF EF FF Thar 87

1. KPQMOR

2. LRSMQO

3. RSTKPL

4. SKMRQO

Options:

1. = 1 3t 3

2 v 23R 3

3 % 3 3T 4

4. = 1,3 3r4

Question Number : 19 Question Id : 9983675823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘Mechanical Engineer” are as follow.

The candidate:
1. must have passed M.Tech in Mechanical Engineering with more than 75% marks.

2. must have secured more than 65% marks in the written test and more than 70% in the interview.
3. must not be less than 30 years and not more than 35 years of age as on 1 January 2019.
However, if a candidate fulfils all the above criteria EXCEPT:
a. no. 2, but has obtained more than 80% marks in M.Tech, his/her case is to be referred to the Chief Engineer.

b. no. 3, but has got more than five years experience of working as a Mechanical Engineer, his/her case is to be
referred to the Deputy Director.

Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Vijendra completed M.Tech with 76% marks in Mechanical Engineering. He was born on 14" November 1983. He has
got 73% marks in both written test and interview. He has worked as Mechanical Engineer for three years.

Options:

1. % The candidate is to be selected.

? « The candidate is not to be selected.

3 x The candidate’s case is to be referred to the Chief Engineer.

4. % The candidate’s case is to be referred to Deputy Director.

Question Number : 19 Question Id : 9983675823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

|y IFACER AT ST AT

5 v SFHAICAR I FEl IoAT ST=AT =T

3« 3FHIGAR % ATHS H HEL ST & 9TH #= &7 =@

A % 3FAICER F AH H 39-Hder & 9TH A a1 AR

Question Number : 20 Question Id : 9983675824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘Lecturer - History” are as follow.
The candidate:

1. must have passed M.A. in History with more than 70% marks.

2. must not be more than 40 years of age as on | January 2019.

3. must have passed UGC-NET examination in History.
However, if a candidate fulfils all the above criteria EXCEPT:

a. no. 2, but has got more than five years experience of working as a Lecturer - History, his/her case is to be
referred to the Principal

b. no. 3, but has completed Ph.D. in History, his/her case is to be referred to the Director.

Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Manushi has completed M.A. and Ph.D. in History. She got 72% in M.A. She was born on 25 May 1983.
Options:

1. % She is to be selected.

? s She is not to be selected.

3 u Her case is to be referred to the Principal.

/]« Her case is to be referred to Director.

Question Number : 20 Question Id : 9983675824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Mental Ability2
Group Number : 2
Group Id: 998367238
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time: 0

Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 998367244

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section Id: 998367356
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9983675825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the option figures represents the correct water image of the figure given below?




--
mazh
3021535

]
e

Question Number : 21 Question Id : 9983675825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S AR H & HiaT A 31pfa & 7 3Tpia &1 o gfafes geidr g2

Options:



--
mazh
3054535

:

--
mazh
2021535

5, \EGAMDYL

_-
CHE
2e2¢535
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=
4

Question Number : 22 Question Id : 9983675826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct mirror image of the given cluster when a vertical mirror is placed on the right of the word.

SphtG74RB82pmN

Options:



1 . NmqS88ARLO3rge
» . NwqS88ArLoirqge
5, ImqS88ARr\Diriqe

1 . NmqS89dP\DIrge

Question Number : 22 Question Id : 9983675826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 7w wog F FE 90T B I, W e F Afe IR TF wFaad guuT & AT 2

SphtG74RB82pmN

Options:

1 . NmqgS88ARLI1rqe

5 . NMwqS88Av.Loirqge
5 ., NmgS88AR~\DiIriqe

4 . NmgS8adh\Diriqe

Question Number : 23 Question Id : 9983675827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eight symbol-number clusters are given below three of which are same. Find the three clusters that are exactly same.
A %O6ES6@T*4#3@#%5%

%6#SA@T*4S@@#% 5%

%6HSA@T*44S@#% 5%

L %6#SA@T*4#S@#% T %

%OHSA@T*4#8@H#% 5%

%6#SO@T*4#S@#% 5%

6 @ m g 0 W

L% 6¥SA@T*4ES@E% 5%
H %6£S4@7*44S@%%5%

Options:
1. & A CandE

7 % B.CandD

REE" D,Fand H

4 « CEandG

Question Number : 23 Question Id : 9983675827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A AT TAF-HEA F T 4T 0§, 399 ¥ AT vw wA g Roge aEe & weg 99
A%UBHSE@T+44#S@H%5 %

B%6#S4@7+45@@#%5%

*

C%HhBHSA@7~4#HS@H %5 %

D%6#$4@ 7

#

4HS@H%T %

E%6#$4@ 7

*

AHS@# %5 %

*

F%6H#SO@7+44#S@#%5%
G%6H#HS4@7+44#S@H#%5 %

H%6#S4@7+~4HS@#HE %
Options:



Question Number : 24 Question Id : 9983675828 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the given figures. when fitted into each other would form a pentagon? Select an appropriate combination from
the given options.

N (7O

F

Options:
1. & ABCE

? % ACDF
3. % BCEF

4. « BCDE



Question Number : 24 Question Id : 9983675828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= ¥ 0 3 F 99 vF vF g A e fFar S 8, & oF q=er s T ere feeedt A @
FARE FAEE & T S

%QQQQ

F
Options:
1. = ABCE
2 % ACDF
3« BCEF
4. «+ BCDE

Question Number : 25 Question Id : 9983675829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the diagram given below, the circle stands for ‘HR Managers’, the triangle stands for ‘MBA degree holders’, the
rectangle stands for *Males’, and the square stands for ‘Permanent Employees’. The numbers in different segments
represent the number of persons.

F 1

Which of following statement is NOT correct?

Options:

1. =

The number of Male HR Managers who are permanent emplovees but are not MBA degree holders is 9.

2. %

The number of Male HR managers who do not hold an MBA degree and are not permanent employees is 32.

3. %

The number of Male MBA degree holders who are permanent employees but are not HR managers is 38.

4.  The number of Permanent Male employees is 24.

Question Number : 25 Question Id : 9983675829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feT v 3ME A, gea TAIR. yEuHT F A g, TS THEAT B amer @i g, g
‘qeut @ gefar & AR T wurd FEREt Fr getar #1 sreer-sreer @ A & gt
sfradt $ ge # g ¥

\

17 |s5]7 12

32 19|44 21 |35
3

Ly /2:1 Ef
TAH W FIF TT FUa TEr Adr 272
Options:

1. =
U IEY TE.HN. YEU@ B @ 9 €, S 'l A o €, afhd 39 9w vAAe. @ 3 g

2. %
TN IRV TE.HR. TEUS H FEAT 32 B, S F ar T FAAnr § AR F & 395 99 v AT B g

3. %
U 9EY TAALT. B ane # Fw=r 38 & S wnh wEEn A € ofe weam. yaus J@ 8

A4 o AT IR SR H HEAT 24

Question Number : 26 Question Id : 9983675830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option figure which contains figure X embedded in it as its part.

.
l‘-
\~

Figure X
Options:



K

X

3. %

4. =

Question Number : 26 Question Id : 9983675830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH ¥ 9 HPa I [HEH AP X SHHT T 8T g

:
L\
\ /|
T X

Options:



K

I - w -
——\ X

Question Number : 27 Question Id : 9983675831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following option figure will complete the pattern in the figure given below?

Options:



Question Number : 27 Question Id : 9983675831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s ¥ Fi @ el A & amply Yo @ qw FEh?

Options:




Question Number : 28 Question Id : 9983675832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Payal is unmarried. Rukmini is Sarika’s maternal grandmother. Sarika is daughter of Raju. Kavya is Payal’s sister’s
daughter. Rukmini is mother of Surbhi. Raju is Payal’s only sister’s husband. Sunil’s daughter is married to Raju. How
is Kavya related to Sunil?

Options:
1. » Daughter

? % Sister

3. % Niece

4. » Granddaughter

Question Number : 28 Question Id : 9983675832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

are JfaaTfed g1 TR T I A= g1 BT T T 2T g1 FHedT e @ g
& &1 THEST T FT AT 1 TS I H gl g8 1 9fd g1 GeAreT S a8 Hr e
TS @ 8 81 FeA G ¥ FH wefod 82



Options:

1. = &
2. = g
3w AT/
4, » drEETE

Question Number : 29 Question Id : 9983675833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A + B means “A is brother of B’
A — B means A is mother of B’
A » B means “A is father of B’
A +Bmeans "Aissonof B’

A % B means "A is sister of B’

ITW+X-P-Q+T+Wx89%17J, then which of the following statement is NOT correct?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Xis mother-in-law of W,

? Sissister of T.

3. J1is husband of W.

4. Xis maternal grandmother of S.

Question Number : 29 Question Id : 9983675833 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

A+Ba 3 g A BFTAS T
A-BFTawg A BHramg

Ax B T EA B F fErd
A+BF HATFA BFIITY
A%Ba#3Tg A BFragay

AEW+X-P-Q+T+WxS %Jg o 57 T Fid TN FAT T 78T 272

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. X, W & &F g

2 S, T & 5g= g

3. J, W & 9fF &I

4. X, S &rAE

Question Number : 30 Question Id : 9983675834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A question is given, followed by four statements labelled L. II. ITT and IV, each containing some information. Decide
which of the statements is/are sufficient/necessary to answer the question.

Question:

How is T related to A?

Statements
I. Rissonof P whose wifeis T.
IT. 7is married to R.
III. D is sister of A.

IV. R is the father of D.
Options:
1. % Statement I and II together are sufficient.



2w Statement L, II and III together are sufficient.

3 Statement I IIT and IV together are sufficient.

4. » Allthe statements together are necessary.

Question Number : 30 Question Id : 9983675834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF FoF & &g |, I, Il 3R IV oed & dgd 91 Fud QU v , v A Fo 7 F
FFFET & 72§ FT L F 9T 7 3] 3 F 0w =H ¥ FiT 99 FuT q3ea/Sm 1y
el
TouT:
T, A ¥ &8 gefag 2
FUA:

. R, P & ser ¢ TS ot T 21

I J #r emdr R @ g3 21

Il. D, A & F&8= 21
IV. R, D &1 frar 21

Options:
1w U= | 3R | THaEy 9aed gl

2 wmUA L 1 3R 1 Ty AT g

3. v FUA 1, Il AT IV THEary 93T g

4. » T FUT THAY AT g



Question Number : 31 Question Id : 9983675835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘MATCHING" is coded as 109 in a code language, how would *TRACHEA' be coded in the same code language?
Options:
1. = 120

7« 123

3. % 127

A % 129

Question Number : 31 Question Id : 9983675835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofE e #rE s F ‘MATCHING' #r 109 #1E fFar = &, o 39 &5 s & ‘TRACHEA’ & &7
FE RaT FATTET?

Options:
1 = 120
2. v 123
3. % 127
4 = 129

Question Number : 32 Question Id : 9983675836 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

137+ 548+ 274 % 18- 228 =430
Options:



1. % 18and 548, x and +
2' % S48 and 137, +and +
3 » 137 and 274, + and —

4. = 137 and 274, + and +

Question Number : 32 Question Id : 9983675836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEmHt AR Rea & 5= geAE F ¥ Fi9 @ grE s Bl e F sgem ) G o afivde
HHIRIOT I HEl H g HLEM?

137 + 548 + 274 = 18 - 228 = 430
Options:

1. » 18 3T 548, x 3k +

D 548 3 137, + 3R +

3. » 137 3R 274, + 3R -

4. = 137 3T 274, + 3R +

Question Number : 33 Question Id : 9983675837 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A total of 440 students participate in one of three events music, dance and mimicry. Only 15% participate in all three
events. The number of students who participate in any two and only two events is 40% of the total students. The number
of students who participate in mimicry alone is 96. What is the total number of students who participate in music alone
or dance alone?

Options:



Question Number : 33 Question Id : 9983675837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T, 7o 3 B & O Fwat F g9 440 o e 7 © §) Faw 15% & S wEwar §
HT o I¢ &1 FReRl ar T1 Ha & FUEAT A ST o FTer BIE! @ WEAT ol orar @ 40% g1 FEe
fafeshr st arer ot T A 96 T Fad W A Fad o7 FREA H AT A ATl Fol SE B

Options:

1 = 105
2. v 102
3. % 95
4 = 92

Question Number : 34 Question Id : 9983675838 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Among five objects K, L. M, N and O; O is twice as heavy as K: L is two and a half times heavier than O; M is one and
a half times heavier than N. K is one and a half times heavier than M. Which of the following the statements is NOT
correct?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



1. Kis 2.75 times heavier than N.

2 Mis lighter than O.

3. L is heavier than K.

4. L is five times heavier than N.

Question Number : 34 Question Id : 9983675838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

E aEGHT K, L M NSROFA T OK AR &mlr §; L O ¥ &5 77 &y &, M N ¥ 3¢ & &l
gl KM & 32 77 18 §1 S8 & Hisf & HUF Fer A2l g7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. K N & 275 7@ o &1

5 M, O & gear gl
3. L K& s g

4 L N @ o T ol 2

Question Number : 35 Question Id : 9983675839 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Four persons A, B, C and D have different amount of rupees with them. A says to B, ‘If I give vou 8 rupees, I will have
four rupees more than C” B says to C, ‘If you give me 7 rupees, I will have equal amount of rupees as D’. C says to A,
‘If you give me 13 rupees, I will have 8 rupees less than B’. If B and C together have total 75 rupees, how many rupees
does C have?

Options:



Question Number : 35 Question Id : 9983675839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR =@FAET A, B, C 3R D & 9F 3ee-3eeT 94 g1 A, B FgaT ¢, ‘R H JFE 8 FH T g, A
M 9H C ¥ 9N T9F S0 7 B, C W FEAT ¢, IR gF q 7 & & 1, & A 9w D B
T G AN C, A ¥ FEAT §, WR A A 13 T F &, T A TH B ¥ 8 wI¥ FH g g B
3R C g % 98 F 75 T §, & C & IH et T 82

Options:

1. = 25
2. v 27
3w 29
4. = 30

Question Number : 36 Question Id : 9983675840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four words are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. = Creativity



2 w Intelligence
3 Memory

4. » Eyesight

Question Number : 36 Question Id : 9983675840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fw av 9 eredt 7 & AT v U § FA g, FIF TF HoeT g1 A /v g4

Options:

1. = THdATcHehdl

2w Sif&ehdr

Question Number : 37 Question Id : 9983675841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out.

1 2 3 4
Options:

1. % 1



-2
&
bt

“
<

Question Number : 37 Question Id : 9983675841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few av = smgpfadt & @ A7 ve ale ¥ g B, F9fe v et B sEH @ v =g

1 2 3 4

Options:

1. = 1
? = 2
3. v 3

Question Number : 38 Question Id : 9983675842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

2335313
Options:



3w 11

A = 12

Question Number : 38 Question Id : 9983675842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ag ReeT I S gTer # o feg (?) FF TE FiawAa ST

2, 3, 3 B, N3

Options:

1. = 9
2. v 10
3= 11
4. = 12

Question Number : 39 Question Id : 9983675843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

Fi:28: 32,627
Options:



1. = 127

7 129

Question Number : 39 Question Id : 9983675843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ag ReeT I S gTer # o feg (?) FF TE FiawAa ST

17, 21,32, 62,7

Options:
1. % 127
2. v 129
3. = 131
4. = 133

Question Number : 40 Question Id : 9983675844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

8, 15,34, 71, 132, 7
Options:



1. = 220
7 % 221
3. v 223

A % 227

Question Number : 40 Question Id : 9983675844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ feT I S g@er 7 W foeg (7) # wEr gioria FEm|

8, 15, 3, 71,132, 7

Options:
1. % 220
2 = 221
3. v 223
4. » 227
General Awarenessl1
Group Number : 3
Group Id: 998367239
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time: 0

Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessl

Section Id : 998367245

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section Id: 998367357
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983675845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following cities has world’s largest e-waste
recycling facility been opened?

Options:

1. v Dubal
2. » Abu Dhabi
3. = Beirut
4. = Riyadh

Question Number : 41 Question Id : 9983675845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d A @ fore gl A gfarar Fr o gz $-319fIee
(3- a€e) RramsieFeler ghoar el % g7

Options:

1. v 585

2.&31@%1@



3. = S&d
4. = Ie

Question Number : 42 Question Id : 9983675846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The National Air Quality Index is based on the measurement
of 8 pollutants. Which of the followings is NOT one of them?

Options:

1. = 802

2. ® NH3
3.v C02
4. = Ph

Question Number : 42 Question Id : 9983675846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI ATy VAT Ak 8 VNl T AT IT MUTRA &
feffaa & 8 &l 3a8 @ v g7 &7

Options:

1. = 802

2. = NH3

3. v CO

4. = Pb

Question Number : 43 Question Id : 9983675847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of environment friendliness, the Blue Flag
certification is applicable to which of the following
landscapes?

Options:



1. v Beach
2. = Forest
3. = River
4. » Wetland

Question Number : 43 Question Id : 9983675847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TATEUT 3Tofeholcl] o Heal H, s63 Foldl YHUTS foleiiolize
8 e 32T (lsEhT) W o] 87

Options:

1. ¢ g d¢

2. % STaTel
3. = ol
4. = dAcolg

Question Number : 44 Question Id : 9983675848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bhagwan Mahavir Wildlife Sanctuary is located in:

Options:

1. v Goa

2. = Gujarat

3. = Tamil Nadu

4. » Andhra Pradesh

Question Number : 44 Question Id : 9983675848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TITETeT ABTEN Tedoid 3R 7 o g

Options:

1. v 4T
2.%3}’311?



3.waﬁﬂ?n§
4. % 3T Taer

Question Number : 45 Question Id : 9983675849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following fields, is the Maharshi Badrayan
Vyas Samman awarded by the Government of India?

Options:

1. = Journalism

2. v Literature

3. » Ayurvedic research

4. = Astronomical research

Question Number : 45 Question Id : 9983675849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT RN a7 TdrdTelidd & 9 Thd &89 H, AN Sedo
ST GFATT YaTea [RaT ST &7

Options:

1. = OISRl

2. v gifgca

3. = a@a‘ﬁ? gTrer
4. = TNl ey

Question Number : 46 Question Id : 9983675850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the Ease of Doing Business Index released in 2018 Ranking
of States, the third place has been bagged by:

Options:

1. = Telangana
2. = Gujarat
3. v Haryana



4, » Maharashtra

Question Number : 46 Question Id : 9983675850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2018 H g7 3% ggaT Tooterd Fahier H Il I AT A,
ATET F2UTal % SANT 9red ToRam |

Options:

1. % JeETaAT
2.%3_13113
3. v BRITOT
4. » HERISG

Question Number : 47 Question Id : 9983675851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Dokdo / Takeshima Islands are disputed territory between:

Options:

1. = Japan and China
2. « China and North Korea
3. * China and Vietnam

4. v Japan and South Korea

Question Number : 47 Question Id : 9983675851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

StehsT / TTR{RIAT Said EHE & d [aareared T gl

Options:

1. % S9Tel 3T Tl

2. % el 3T 3cdd I
3. = U 3 aaqaTaA

4, v ST AR ST&0T ShIRET

Question Number : 48 Question Id : 9983675852 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements about Mission Shakti is
NOT correct?

Options:
1. = Under this mission, DRDO successfully test-fired
Anti-Satellite Missile.

2. » The missile was test-fired from Dr AP] Abdul Kalam
Island in Odisha.

3. v India is the fifth country to have achieved this capability
after US, Russia, China and France.

4. = The satellite used in the mission was one of India’s
existing satellites operating in lower orbit.

Question Number : 48 Question Id : 9983675852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TiFTTolTEad H & THee eferd & IR H i AT Sl Hal ool
g7

Options:

1. = 39 THTS & 3 SIAREBRT (DRDO) o T - #darse
TAETS el ST AheldTqdeh TI&ToT foha|

2. » 30 TAwTSer T TeT0T ST A ST VU 37sgel FollA
garg & foraT aram |

3. v ANHRI, &, AT 3T BT & & T TATT &8 Flal

gTelT HT TT<IaT 29T &

4, » 37 AT H UgFd 3UIE, Torell &T A AR T Uk
AISET G<ilield 393 2T

Question Number : 49 Question Id : 9983675853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ELICLTA T gTIH §
1.&@13??1%

2. v eferemes

3. » gd Rfercar

4. » Afds TATT

Question Number : 49 Question Id : 9983675853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Upnishads are books on:

Options:

1. = politics

2. v philosophy
3. » dental

4. = physics

Question Number : 50 Question Id : 9983675854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous warriors named Alha and Udal served the ruling
house of:

Options:

1. » Chahamanas
2. = Tomars

3. v Chandelas

4. = Parmaras

Question Number : 50 Question Id : 9983675854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

;Teadl 3T I aTH & Uag AER o JTSTERTal <hl
qar =i

Options:




B~ W N =
<

Question Number : 51 Question Id : 9983675855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of the regional state of Bengal, which of the
following statements is NOT correct?

Options:

1. = It was founded by Murshid Quli Khan.

2. v Murshid Quli Khan was appointed the Nazim of Bengal
by Aurangazeb.

3. » During the reign of Farrukhsiyar, Murshid Quli Khan
enjoyed the office of both Nazim and Diwarn.

4. = The foundation of Murshid Quli Khan’s power was his
successful revenue administration.

Question Number : 51 Question Id : 9983675855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SISl &9 Uled & sl A, TFdToliad H & shieT AT Fue
el T8l &7

Options:

1. » g8 ARl Foll Wlel agRT FAIT FhaT =1 o)

2. v 3RETS Z@RT JRIE Foll el FT ST FT AT Fo e
TR aT 2T

3. * HEEAT & ATHTRTd ﬁ,ﬂﬁi‘c{iﬁﬁwﬁmﬁﬂﬁ
SIaTel T U WTed T




4. = FfTe g«—o?r HTeT T hel IToTEd WTH, 3ThT eIiFadl hT
T AT

Question Number : 52 Question Id : 9983675856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following headed the Linguistic Provinces
Commuission of 19487

Options:

1. v Justice S. K. Dar

2. = Sardar Patel

3. » Pattabhi Sitaramayya
4. = KM Munshi

Question Number : 52 Question Id : 9983675856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaTal&T # & Thae TS Uled 3TTANET 1948 =hl 37egedr
Hhr?

Options:

1. v JAEET UH. &h. &I
2. * WGN 9ddl

3. = UgIfer daRAAT
4. = & TH FA

Question Number : 53 Question Id : 9983675857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of Beti Bachao Beti Padhao, which of the
following statements is NOT correct?

Options:



1. = It is a triministerial effort of Ministries of Women and
Child

Development, Health and Family Welfare, and Human
Resource Development.

2. = It addresses the declining Child Sex Ratio (CSR) and
related issues of women empowerment.

3. = It aims to change mindsets to value girl child.

4. v It covers only those districts of the country which show
the trend of declining Child Sex Ratio.

Question Number : 53 Question Id : 9983675857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST FATHT ST T3 & TeH A, ToedTeli@d # & i 4T
el Tl el 87

1p.“0: qg dlel HATeAl, AT Ud dTel [dehrd, a2 U9 IRaR
FegToT, AT AT gaTaga wmer fr afEraea g &

2. « Ig "ed aTer folar 3eqara (Weasm) AT Afgern
TATFIFIVT F TS Heal FT TATIT FIAT g

3. = FTelhI3 & UTd HATAGSRAT Scolell ITRT €A gl

4. v SH A & hdol T ool NP T 310 § SHaH STel
ferar arerura A Prae wefRia g

Question Number : 54 Question Id : 9983675858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of Model Code of Conduct (MCC), which of the
following statements is NOT correct?

Options:




1. = MCC is a set of guidelines issued by the Election
Commission of India.

2. = Implementation of MCC is ensured by the Election
Commuission.

3. v MCC comes into effect with the beginning of the
nomination of the first phase of polling.

4. = MCC remains in effect till the date results are announced.

Question Number : 54 Question Id : 9983675858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AISel IS 3TH hedc (VAU & Tl H, feafeiaad & &
el TT FUT TaT a8l &7

Options:

1. * URAAMNI, $Rd & fodrae 36T @R’y SIRT feRmfecel
Tk T B

2. « UHHANET FT fohdTeaye, faaee 3maer carr glafeed
foraT SITaT ¥

3. v UHH, UUH TROT & AdGlA & aATHlRa & 3R H o]
& ST &

4. = YROTAT kT MYOT gl 1 [dfYr T TAGET oe] & &l

Question Number : 55 Question Id : 9983675859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cities is ranked first in India as per the
Ease of Living Index 2018?

Options:

1. = Chandigarh
2. v Pune
3. » Raipur



4. = Bhopal

Question Number : 55 Question Id : 9983675859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArleolad # & Sia A7 8T HRT H 7 36 Telfder Faehrehn
2018 #H Ugel TATT T &7

Options:

1. = TEHTG
2"*”5@

3. % T
4. = rdTel

Question Number : 56 Question Id : 9983675860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The recently passed 124th Constitutional Amendment Bill is
related to the:

Options:

1. = grant of constitutional status to the National Commission
on Backward Classes.

2. = goods and services tax.

3. » creation of the National Judicial Appointment
Commuission (NJAC).

4. v reservation of up to 10% for ‘economically weaker
sections’ in educational institutions and public employment.

Question Number : 56 Question Id : 9983675860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2T &7 B TR 12437 ST deltus o fretatET #
¥ ware ¥

Options:



1. = TSI TS ToT 3MANT &l JadYTfeleh Goll WeTel Rl STl
|

2. » & 3R JAT FI|
3. » TS = ogfFd AT (TTTHT) T ST |

4. v A8 gEUTar AT gl iRl # '3 ¥ 8
FHSIT TAT T 10% Tk T 3TTETOT)

Question Number : 57 Question Id : 9983675861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Article 51A of the constitution, which lists the fundamental
duties of Indian citizens, does NOT expect Indian citizens to:

Options:

1. = protect and improve the natural environment.

2. » safeguard public property and to abjure violence.

3. » value and preserve the rich heritage of our composite
culture.

4. v not wage war against the friendly nations.

Question Number : 57 Question Id : 9983675861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

HigUTeT T 3efesde 51A, S 9T @R & Fifolsh Hcedl
T FTEG FLAT &, AN AR & TE 98T STgl hicl &

Options:

1. » YTshfcieh TATEROT kT HLETOT 3 FUR
2. = HIdelfelsh FAlcd T JI&TT FLaT, 3T BAT R TATCT FTa
|

3. » BANY ATHAT TERT T HE TAOHT HT Ageed T 3T
gH & T




4. v T3 Tl & TEemw Ig o S5l

Question Number : 58 Question Id : 9983675862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following schedules of the Indian Constitution is
known for provisions seeking disqualification of the members
of Parliament and State Legislatures on the grounds of
defection?

Options:

1. v 10th
2. = 11th
3. % 12th
4. = 13th

Question Number : 58 Question Id : 9983675862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT HAUTe HT A& # & Hiel AT M=, T
el 3T U [TORIh3l & TEEdl &l oldge & YN T
AT SEIa T UTITTd Hal &7

Options:

1. v 10 &7
2. % 11 &Y
3. % 12 oY
4. = 13 Y

Question Number : 59 Question Id : 9983675863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the field of sports, the Maulana Abul Kalam Azad Trophy is
awarded for:

Options:



1. v overall top performing university in inter-university
tournaments

2. = gverall top performing state in national games

3. = 1dentification and Nurturing of Budding and Young Talent
4. = encouragement to Sports through Corporate Social
Responsibility

Question Number : 59 Question Id : 9983675863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el & & H, Al 37l FollH 3MTelle gThr + forw
ar ST &

Options:

1. v 3fcRTdeaiaeTTeR galiAee H Hafcd W&elel el dTol
freataemerT =t

2. = USET Bell A Faied vgelel lal drel TS

% JILAT T % ATas3i T ggre 3T Wedrge &

* FURE AR 3caialRicd & ATEIH & Tol ol WIcHTEd

M
Question Number : 60 Question Id : 9983675864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Thibaut Courtois who was awarded with the Golden Glove
Award 2018, belongs to:

Options:

1. = France

2. » Germany
3. v Belgium
4, = Spain

Question Number : 60 Question Id : 9983675864 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

fae13e FIcza Seg Mesed Talg WEHR 2018 wera TeraT I
q garad gl
Options:
1. = W1
2. % STHaT
. v STeoldH

3
4. % Fqa

General Awareness?

Group Number : 4
Group Id: 998367240
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?2

Section Id : 998367246

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367358
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9983675865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Harmanpreet Kaur and Smriti Mandhana are the sports
personalities belonging to the game of:

Options:

1. v cricket

2. = hockey

3. = judo

4. = table-tennis

Question Number : 61 Question Id : 9983675865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ELHTYIT N 3 THT HTe T O g99d TaE
aATH &

1. v Tohehe
2. = Blenl

3. = ST

4. = ool forg

Question Number : 62 Question Id : 9983675866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following states, is Champaner-Pavagadh
Archaeological Park, a World Cultural Heritage site, located?

Options:

1. v Gujarat

2. » Madhya Pradesh
3. = Haryana

4. = UJttar Pradesh

Question Number : 62 Question Id : 9983675866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafafaa & @ g ToT 7 AUER-IEREG [Widlicas 3T
T Tded HEpideh alad Fde Feud &7

Options:

1. v IGRId

2. % HET gdeT
3. % BRIATOT
4. » 3cal waer

Question Number : 63 Question Id : 9983675867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of Zonal Cultural Centres, which of the
following statements is correct?

Options:

1. v These are aimed at raising awareness of the local culture.
2. = Every state has one Zonal Cultural Centre.

3. = Promotion of tourism is one of the objectives of these
centres.

4. = These have been set up under the Ministry of Tourism.

Question Number : 63 Question Id : 9983675867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HSOII HIEPih hal o HaH H, fodrel # & Fiel 61 FUT FET
g7

Options:

1. v T GERIT & TR H SETEehedl SGMT Selehl 3602 &l
2. = g U H U HSeT HIEP(deh g gl

3. * T Rl FGAT ST SoT chegl T Teh 3602 g

4, = T YIcT FAATAT o dad T e v g

Question Number : 64 Question Id : 9983675868 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Rashtriya Ekta Diwas is celebrated on every year.

Options:

1. = 31 August
2. = 31 Spetember
3. v 31 October
4. = 31 November

Question Number : 64 Question Id : 9983675868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS TehelT e &Y el ST HATIT ST &
Options:
1. = 371 3M9TEd

2. % 30 Adasy
3. v 31 CETER
4. = 30 TdeT

Question Number : 65 Question Id : 9983675869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

River is also known as Singi Khamban or Lion’s mouth.

Options:

1. = Brahmaputra
2. = Chenab

3. = Beas

4. v Indus

Question Number : 65 Question Id : 9983675869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofal ol el @eer ar O & Hg o T A AT S
ST &

Options:



B W=
®
%

v Ay

Question Number : 66 Question Id : 9983675870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the World Bank, only about of the total
agricultural land in India was reliably irrigated in 2010.

Options:

1. % 23%
2. % 75%
3. » 83%
4. v 35%

Question Number : 66 Question Id : 9983675870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeq S & @R, R ﬁ;ﬁsﬁﬁaﬁﬁwm
2010 # g AT o

Options:

1. = 23%
2. = /5%
3. = 83%
4. v 35%

Question Number : 67 Question Id : 9983675871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following European countries does NOT have
coastline at Mediterranean Sea?

Options:



1. v Belgium
2. = Spain

3. = France
4, = Italy

Question Number : 67 Question Id : 9983675871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farfai@a & @ forg gqUdr dor A s{Fey @R $r qedar
STel &7

1. v STeadH
2. = T
3. = T
4. % Bl

Question Number : 68 Question Id : 9983675872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Central Public Sector Enterprises is
NOT a Maharatna company?

Options:

1. = Bharat Heavy Electricals Limited
2. » Coal India Limited

3. #» Indian Oil Corporation Limited
4. v 01l India Limited

Question Number : 68 Question Id : 9983675872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FToT&ad H & i &1 HET HAoiloleh & T 3UhHH, Teh

Options:




» §TC gaT Solldcehed folfHcs
% shiel 33T foIf@es

=3aeT 3Te FuRere feiffads
v e stEar s

Question Number : 69 Question Id : 9983675873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Under the Pradhan Mantri MUDRA Yojana (PMMY) loans upto
Rs. are provided to the non-corporate, non-farm
small/micro enterprises.

Options:

1. = 1 Lakh

2. v 10 Lakh
3. = 15 Lakh
4. = 20 Lakh

ol
#®

Question Number : 69 Question Id : 9983675873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTAHAT HT Arotell (NUATHATS) & 3icaid I-shrdie, -
o /| GEH 3egAT R T deh o FHOT Ul e S &
|

Options:

1. = 1 oA

2. v 10 «r™
3. % 15 @&
4. = 20 @&

Question Number : 70 Question Id : 9983675874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the context of forecast for India’s growth during the year
2019-20, which of the following is NOT correctly matched?

Options:

1. = International Monetary Fund — 7.3%
2. = Asian Development Bank — 7.2%

3. v Reserve Bank of India — 7.4%

4. = World Bank - 7.5%

Question Number : 70 Question Id : 9983675874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a¥ 2019 - 20 & ENTel R HT gig & qateAmE & dast 7,
fattelad H & Tohaenr fAemer dar «ar 87

1p.%31m§araﬁtr-7.3%
2. « ufdrns faemg &% - 7.0%
3. v AR Rad &% - 7.4%
4, = Taeg &F - 7.5%

Question Number : 71 Question Id : 9983675875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The irritation caused by the sting of an ant is due to the
release of in body.

Options:

1. v methanic acid

2. » acetic acid

3. = carbonic acid

4. = hydrochloric acid

Question Number : 71 Question Id : 9983675875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HET & Fica T W A t@ﬂﬁﬁﬁchlwloﬂws’lt-ﬁﬁl




Options:

1. v A 3
2. = udfew 3Fa
3. % hIAlfalch 3TFel
4,

% ISgIFellNeh 3TFel

Question Number : 72 Question Id : 9983675876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Calcium sulphate hemihydrate 1s the chemical name of:

Options:

1. = cement

2. = bleaching powder
3. v plaster of Paris.
4. = baking soda.

Question Number : 72 Question Id : 9983675876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FToRRIH Tethe RAIGISSC T TAAIh TH gl

Options:

1. = HIAC

2. % Solll<dl TI38Y
3. v TaFeY AW 9RE
4, = FfRaT AYET

Question Number : 73 Question Id : 9983675877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following nutrients is made of chains of amino
acids?

Options:

1. v Protein
2. = Vitamin



3. = Carbohydrate
4. = Fat

Question Number : 73 Question Id : 9983675877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFaTaEd qiver deal # & Hisd &7 37AGT U8 T s |
gl 7

Options:

1. v WIcTeT

2. = [gar@e
3. = HhIAEI5eC
4, = e

Question Number : 74 Question Id : 9983675878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Carbohydrates provide Kcal per 1 gram of energy.

Options:

1.v4
2.% 5
3.%6
4, %7

Question Number : 74 Question Id : 9983675878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FIEIEIS3C fRellehalRT U 1 IATH FT Ul AT &

Options:

1. v 4
2. % D
3. » 6
4. = 7/




Question Number : 75 Question Id : 9983675879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ISRO is planning to launch its second mission, Chandrayaan -
2 to the moon. The mission will be launched by its vehicle:

Options:

1. v GSLV MK - III
2. » GSLV MK - IV
3. = GSLV MC - III
4.« GSLV MC -1V

Question Number : 75 Question Id : 9983675879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U, TEAT & ToIT Uar g@ar fAereT Igdme - 2 o Sdal 1

qTSTellT &7 8T g1 J§ THerT 38 dlgel ZaNT ol
foRaT SITTeT|
Options:

1. v SieHTeEr TAS - |
2. = SUgUedr THS - IV
3. = SUHTeAl vAHT - |
4. = SegUedr TAAT - |V

Question Number : 76 Question Id : 9983675880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ballpoint pen was invented by:

Options:

1. = Wilson

2. = {scar

3. v Laszlo Biro
4, = Waterman

Question Number : 76 Question Id : 9983675880 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

% ZaRT Slevige 9ef T 3HTAvhR fHIAT 1T 27

Options:

1. » TSeqd

el

2. = 3ERT
3. v dTeTell o
4. % FIcHT

Question Number : 77 Question Id : 9983675881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The NASA mission called OSIRIS - REx was aimed at:

Options:

1. v collecting samples from a near-Earth asteroid called
Bennu.

2. = observing the surface of the sun.
3. = observing the chromosphere of sun.
4. = collecting information on the behavior of solar winds.

Question Number : 77 Question Id : 9983675881 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & OSIRIS - REx aTHS [HereT 1 oe =y

Options:

[ LY LY
1. v J2487 & folshe doo] THS &aaE & STHel Teha el

2. = I FI GAg FT 3iTellchel el
3. * & & TUIASH FT 37dellchel el

4, = N Ul o UGN & YT H ATdRRT Thd hldl

Question Number : 78 Question Id : 9983675882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Secretariat of International Maritime Organization is
located at:



Options:

1. v London
2. = San Francisco
3. ® Geneva
4. = France

Question Number : 78 Question Id : 9983675882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRTSER TTHfch TS T AT H o g

Options:

1. v ocd
2. = HaT WITATRT
3. » forar

4. % I

Question Number : 79 Question Id : 9983675883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following statements about the Human
Development Index is NOT correct?

Options:
1. * The Human Capital Index was recently launched by the
World Bank.

2. = [t 1s a part of the World Development Report 2019.

3. = It measures the index outcomes for each country as a
fraction of the maximum value of 1.

4. v One of its components is survival as measured by
mortality rates under the age of 6 years.

Question Number : 79 Question Id : 9983675883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Aled [dshi Fehleh & T H folesT # & Fiel AT H2e G
ol 87

1. » AT fdhr g Gl 1 &l &1 H [ded s GaRT o<
foRaT arm|

2. » ¥& T9eq 9T RUIE 2019 &T U 39T &
3. * Ig AMMAFTHA HeT 1 & 31A & T H Tcdsh ST &
HeIehlsh TROMAT HT AT T §

4. v FHF T UH Sccloiiadl I 6 a¥ & FA 3 FHT Acg
gl & T H AT ST &l

Question Number : 80 Question Id : 9983675884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The National Institute of Food Technology, Entrepreneurship
and Management (NIFTEM) is located at:

Options:

1. = Lucknow, Uttar Pradesh
2. » Kanpur, Uttar Pradesh
3. v Kundli, Haryana

4. = Gurugram, Haryana

Question Number : 80 Question Id : 9983675884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSEIT W HiefeehT, 3eITACT U veeel FeUTd
(TAIMEUHCISUH) 7 T g

Options:

1. » TEAS, 3cdd Uaer

2. % AT, 3ccl Taer



3. v hEell, RITOM
4. = IHITH, ERATOT

Arithmetic Ability1

Group Number : 5
Group Id: 998367241
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group?: No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1

Section Id : 998367247

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367359
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983675885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

0.36 +0.6 X 0.9+ 0.81

0.729—-0.216
Options:

L
1. % 3



ui | ba

Question Number : 81 Question Id : 9983675885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g FL

0.36 + 0.6 x 0.9 + 0.81
0.729-0.216

Options:

1. =

1
3

| Ba

Question Number : 82 Question Id : 9983675886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1 3
The sum of first 20 terms of — + + F: ——k + ....1s equal to:
2x3 3Ix4 4¥3 S¥b 67

Options:

-

pu ]

1.v 11



Question Number : 82 Question Id : 9983675886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L+ =+ 4+ 1+ . % 9gel 20 TS & T T AF IaT

2x3 x4 43 3x6 Gx7

Options:

E

(=
(=Y

1. v

Mo
4
2 [

Question Number : 83 Question Id : 9983675887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

5.75 X 5. 75 % 5.Y5+3.25 X 3.25 % 3.25

=.|-|=
575 X575+ 325% 325 — 575X 325

Options:
1. = 09



7 % 0.09

3 % 0.009

A 0.0009

Question Number : 83 Question Id : 9983675887 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gel H:

5.75 X 5.753 ¥ 5.75+ 3.25 X 3.25 x 3.25

=7
375 %575 +325x 325 —-575 X 325

Options:

1. = 09
2 % 0.09
3. = 0.009
4. « 0.0008

Question Number : 84 Question Id : 9983675888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

0.0203 x 29.2
0.00073 x 145X 7

=7

Options:
1. = 08



7 % 0.08

3. v 8

4 = 80

Question Number : 84 Question Id : 9983675888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eﬂﬁ:

0.0203 x 29.2
0.00073 x 14.5x 7

=7

Options:

1. = 0.8
2. = 0.08
3. v 8
4 = 80

Question Number : 85 Question Id : 9983675889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

2493 + 2.493 + 0.2493 + 0.02493 :
Options:

1. = 27.19863



7 @ 27.69723

3 % 27.67923

A % 27.18963

Question Number : 85 Question Id : 9983675889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eﬂﬁ:

2493 + 2.493 + 0.2493 + 0.02493:
Options:

1. = 27.19863

2 o 27.69723

3. % 27.67923

4. = 27.18963

Question Number : 86 Question Id : 9983675890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

0.64+ 1.096

Options:
8963
1 , o 4035



826
2, #® 495

423
3, # 385

429

4, # 385

Question Number : 86 Question Id : 9983675890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gl Y

0.64+ 1.096

Options:
863

"|_ « 495

826

423

3. =  ass

429

4. = ass

Question Number : 87 Question Id : 9983675891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the value of ———— . given —— = 0.2146?
0.0004659 4,659

Options:
1. = 2.146



7 % 21.46
3. % 2146

A » 2146

Question Number : 87 Question Id : 9983675891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uﬁﬁ:n.zl% - A G B - e

0.0004659
Options:
1. = 2.146
2 % 2146
3 % 2146
4. « 2146

Question Number : 88 Question Id : 9983675892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

7.5
Options:
1. = 9.25

? % -11.75



A % 27.65

Question Number : 88 Question Id : 9983675892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eﬂﬁ:
8.25 + — > —
Options:

1. = 9.25
2 % -11.75
3. v 2575
A. = 27.65

Question Number : 89 Question Id : 9983675893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:
o o T
8—8x ”—l?
2 - 1
Options:

1. = 2



B | b

£ | =

Question Number : 89 Question Id : 9983675893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g FL

at. g2
8-8x 2
Options:
1. = 2

+
7w 2
3. v 4

h
4, = 4

Question Number : 90 Question Id : 9983675894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 i 1 i . . i
A man spends - of his salary on food, = on rent and = of the remaining amount on conveyance. If he is left with < 1350,
= 2

what is his salary (in <)?
Options:
1. = 84735



7 & 84375

3 % 83745

A % 83475

Question Number : 90 Question Id : 9983675894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wmﬁ?rm#rsmaﬁra:rz %mmﬁrwaﬂfri %mmwaﬂ?ahmﬁmg fewar gt
W TS AT ¥ ofE 3% 9% Fae T 1350 g9 &, O 3HE snEe @ F) 99t H5?

Options:

1. = 84735
2. « 84375
3w« 83745
A % 83475

Question Number : 91 Question Id : 9983675895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A rectangular courtyard 15.17 m long and 8.61 m wide is to be paved exactly with square tiles, all
having the same size. What is the largest possible area (in cm?) of such a tile?

Options:
1. v 1681

7 % 1296



Ln

3. % 122

A = 289

Question Number : 91 Question Id : 9983675895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HIART AT Torqedhr oas 15.17 m 3T Si5E 8.61 m § 3T 30 T & HFHR arer =iy I
T TR ORAT ST g1 $H TOSS $ (o0 3TDART H AT T e Sied H §9H §97 TeE: &7 % (cm’ H)
T 2

Options:
1. v 1681
2 % 1296
3. % 1225
4. = 289

Question Number : 92 Question Id : 9983675896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following is the least number that should be added to 2016 such that the resulting number can be divided
by 3, 4, 5 and 6 leaving no remainder?

Options:
1. = 26
? % 36

3. v 24



4 = 34

Question Number : 92 Question Id : 9983675896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s ¥ F @ O wd orr T § W 2016 # SeA W, A g wEw A 3, 4, 5 3R 6 @
freanfog = W =% 99 7 F=ar &

Options:

1. = 26
7 = 36
3. v 24
4 = 34

Question Number : 93 Question Id : 9983675897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A farmer wants to utilise the unused portion of his field by planting some trees. He plants 176 guava trees, 132 papaya
trees and 220 sugarcane trees in rows such that each row has the same number of trees. He also makes distinct rows of
trees, i.e., only one type of tree in one row. The minimum number of rows that can be formed is:

Options:
1. = 10

2. v 12



Question Number : 93 Question Id : 9983675897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v [ F OTE Tl AT F Ho BEAT &, T 36 O U5 o H ASAAT 718 2
3T HAFS F 176 9%, via F 132 9% #R == & 220 UT A vFaAr & g0 S 9T
¢ & v ufFa & waa T=wr 7 9z &1 9w @, 3¢ 9S v HeE-Heer 9iFadr s44 ¢,
I & v 9fea H Fad TF THN F &7 U5 @1 O 99T F{ FT 57 @ FH U 7 haar
qfFaal s ST Hehal &l

Options:

1. = 10
2. v 12
3. = 20
4 = 24

Question Number : 94 Question Id : 9983675898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 men working 8 hours a day can finish certain work in 12 days and 8 women working 7 hours a day can finish the same
work in 15 days. In how much time can 6 men and 7 women can finish the same work, all working 10 hours a day?

Options:
1. % 5 daysand 2 hours

7  4daysand 8 hours

3 x 4days. 19 hours and 12 minutes

/. % 4days, 18 hours and 36 minutes

Question Number : 94 Question Id : 9983675898 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

5 ¥ T foat H 8 U FH A gU TH 14 # 12 A F qu #¢ wad € 3k 8 A
R &7 7 9 A Fd gT TF FE H 15 BT F [ FT Tohar 81 6 W 3 7 AgAT
& F1H B e §AT # U W FH ¢, I | GF F 10 92 FH F2

Options:

1. = 5 g7 v 2 o

2 v 4femakem

3. « 4=, 19 g€ 3k 12 e

4« 4 %=, 18 9T 3k 36 e

Question Number : 95 Question Id : 9983675899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Seema scored twice as many marks in Science as in English. Her total marks in English, Science and Mathematics is
240. If the ratio of her marks in Mathematics and Science is 3 : 2, what are her marks in Science?

Options:
1. = 40

7 % 60

3. v 80

A % 120

Question Number : 95 Question Id : 9983675899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT F 3R F o A I # @ I 3F ug ) 3ue ST, e ek At & su arg
3% 240 §1 3% 7f0a 3k o= & 8% 3@ & 3gaa 3:2 8, o 9@ w354 TIw # aw
3F urg FHu?

Options:

1. = 40
2 = 60
3. v 80
4 % 120

Question Number : 96 Question Id : 9983675900 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In an examination, 35% of the students failed in Mathematics and 44% failed in English. If 23% of the students failed in
both the subjects, then the percentage of students who passed in both the subjects is:

Options:
1. % 56%

4. v 44%

Question Number : 96 Question Id : 9983675900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vE SR H, 35% OIF AU # 3R 44% 3ET F HIcd0r W AR 23% oI AT vt # rgecior
w & A I w5 fraw gfoee o g Rt #F s @ #

Options:



1. =« 56%

2 x 35%
3 % 65%
4. v 44%

Question Number : 97 Question Id : 9983675901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The employees of an MNC spend 85% of their office hours on work. 33 i % of the remaining time is utilised for lunch

and tea breaks. 75% of the further remaining time is spent for library work and rest on personal requirements, which is
for only 15 minutes per day. Then what is the total time for which an employee works in a five-day week?

Options:
1. = 40hr

? s 40 hr 48 min

3.« 42 hr 30 min

A = 42hr

Question Number : 97 Question Id : 9983675901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF THATALT (MNC) F FHIE F 399 F1ATaT TAT F 85% TAT F1H W TF 3 g1 AY THT &
33iﬂmma¢sﬂm3ﬂtmcﬁﬁwm€raﬂﬁé‘lfﬁa—{a‘rcraﬁrma:rm% AT 59l & A
AR S AT aH W ST R 8, F & gfafeq = 15 B =1 gag saar g1 ar 9ar = &
FA of Rt & ToaE F For o TET FH R 82

Options:



1. = 40 =re

2w 40 T 48 AT

3. v 42 9e 30 A=e

4 = 42 wE

Question Number : 98 Question Id : 9983675902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of an article was increased two times successively by 15% each time. By what percentage should the new
price be reduced so as to restore the original price (correct to two decimal places)?

Options:
1. & 26.54%

7P % 25.48%

A » 24.39%

Question Number : 98 Question Id : 9983675902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ue FFG & HAod # g 9% 15% #F giE & WY & 9 s I g1 A AT HAod F AT Hed (@
ZAHAT TAAT IF Tel) IF a7 & v fFaar gfaea $r w3 &1 s =nfge?

Options:

1. = 26.54%




2 % 25.48%

3. % 23.58%

4. v 24.39%

Question Number : 99 Question Id : 9983675903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of 29 numbers is 70. The average of the first 15 numbers is 65 and the average of the last 15 numbers is 74.
If 15™ number is excluded, what is the average (correct to one decimal place) of the remaining mimbers?

Options:
1. = 715

? & T70.5

3. % 725

A4 = 70

Question Number : 99 Question Id : 9983675903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

29 TEAT3HT &1 A@a 70 F1 gger 15 FEATHT & JiEa 65 § v 3faw 15 gt #v dtwg 74 g1 3fy
1587 F&ar = e fear ST, ar 9w gEnt & MHiEa (U SAes T d9% HeY) 94T 7
Options:

1. % 715

2. v 705



3. % 725

Question Number : 100 Question Id : 9983675904 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The average weight of a group of eight girls is 50 kg. If two girls, R and S, replace P and Q. the new average weight
becomes 48 kg. The weights of P and Q are equal, so are the weights of R and S. Another girl T, whose weight is equal
to that of R, is included in the group and the new average weight becomes 48 kg. What is the weight (in kg) of Q?

Options:
1. «+ 56

3 = 48

4 = 40

Question Number : 100 Question Id : 9983675904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8 w=fFal arel v Wog # 3HlFa 954 50 kg g1 Ife 2 w=fkan, R 3k S, P 3k Q@ &

TR AN T AmaaTET 8 kg A ITT I P aIa Q Fser & IR R &

TAT S F T gl Tk 37 a5h T, 7T 3o R & e, & A THg F onfdyer fomar
Srar § 3R 7 dtma 39 48 kg & Sar g1 Q 7 97 (kg H) Tar 3?7

Options:

1. v 56



4. = 40
Arithmetic Ability?2
Group Number : 6
Group Id: 998367242
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 998367248
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 998367360
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983675905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A dealer offers a cash discount of 20% and still makes a profit of 20%. By how much percentage is the marked price
above the cost price?

Options:
1. &= 30%



7 % 32%

3 % 40%

A v 50%

Question Number : 101 Question Id : 9983675905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

us fashar 20% #r TT ST o 20% FT ATH FACT g1 94T HY F b Hod T Hod
¥ forae gforera sfee 21

Options:
1 % 30%
2w 32%
3. % 40%
4. v 50%

Question Number : 102 Question Id : 9983675906 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper earns a profit of 20% after selling a book at 12% discount on the printed price. The ratio of the cost price
and the printed price of the book is:

Options:
1. = 14:11

7 & 11:15



Question Number : 102 Question Id : 9983675906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF ZHFEER Afhd Hed W 12% FT TT Ta Tead 89 W 20% F A1 FA gl TEH & FT 7o d
3R HfFa 7ea &1 g 99T

Options:

1. = 14: 11
2 v 11:15
3 % 3:5
4 % 10 : 11

Question Number : 103 Question 1d : 9983675907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A watch dealer produces 1500 watches, the production cost per watch being ¥ 150. He also incurs an additional
expenditure of T 30,000, which is independent of the number of watches produced. He sells all the watches such that for
a certain number of them, he makes a gain of 20% and for the rest he incurs a loss of 20%. If he makes an overall gain

1oty o y i i
of 1 : % in the whole transaction, then for how many watches did he incur loss?

Options:
1. «+ 700

7 % 1000



3. % 800

4. % 1200

Question Number : 103 Question Id : 9983675907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T U T%ar, 1500 UfEaT &7 3cEA T &, Todeh U Fr 3caes et 2 150 g1 a 730,000
AT T o FAT &, N S ISAT H A F 7oA T ¢ I A H Fo TEy F 20%
et T AR A BEE F 20% g W ATar ) IR 5@ T AT W 12 % F AT @ g, o 9 H
T 38 foraa ufedl = gl g%?

Options:
1. « 700
2 % 1000
3w 800
4. % 1200

Question Number : 104 Question Id : 9983675908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person bought a new mobile phone for 35% discount. If he were not to get any discount, then he would have had to
pay ¥ 2240 more. How much did he pay for the mobile (in 3)?

Options:
1. « 4160

7 % 6400



3. % 8640

A = 2240

Question Number : 104 Question Id : 9983675908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U AfFT 7 35% [T W THh AEse BT TG I 3/ FE T A& Ao, ar 38/ T 2240
F 310 e HT 9541 T 97T F F 5E AEsa v F v e e @ #) R

Options:

1. v 4160
2 % 6400
3« 8640
A4 % 2240

Question Number : 105 Question Id : 9983675909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When payment is made online, discount offered is 10%. Additional discount of 5%s is given to credit card holders. Ram
buys a laptop of ¥ 150000 by paying online and pays through his credit card. How much does he need to pay (in <)?

Options:
1. = 140000

7« 128250

3. = 135000



4. % 108250

Question Number : 105 Question Id : 9983675909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3+7ﬁﬁ|$ﬂ'aid|d|ﬁ A T 10% FT T & A g1 5T Fs aRa F 5% Hr dfaRea o & e gl
TH HTToTS WU Fh, 3T HiSe F1E & ACTA T $FTA 0 < 150000 FT ATerT TE B
ar 9ar Y 5 38 foFae g (3 #) o

Options:

1. = 140000
2. v 128250
3. % 135000
4. = 108250

Question Number : 106 Question 1d : 9983675910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In 10 vears, the simple interest on certain sum of money is ; of the principal. The annual rate of interest is:
Options:
1. = 3%

? & 3.5%



Question Number : 106 Question Id : 9983675910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10aﬁﬁ,wﬁﬁaﬁrﬁwmmwm% &1 JATTeT| ISR 3T &7 94T FL

Options:

1. = 3%

2. v 35%
3. % 3.75%
4 = 4%

Question Number : 107 Question Id : 9983675911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man earns 6%o per annum at simple interest on his deposits in Bank A, while he earns 8% per annum simple interest
on his deposits in Bank B. If the total interest he earns is ¥ 18000 in three vears on an investment of ¥ 90000, what is the
amount (in ¥) invested at 6 %?

Options:
1. % 30000

7 & 60000

3. % 18000

A % 54000

Question Number : 107 Question Id : 9983675911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



UF g 9 A & JI=T AT T 9T 6% Sfaeay $r 2T ¥ TUR0T e g &I &, S 98 a9
B H HTelT AT UM 9T 8% Ffaay &7 &7 ¥ THNUT 01 ATad &ar g1 afg ag o ast & T 90000
& foder o For T 18000 =0t ST & g, & 9 & 384 6% H & W faraet v @ H) &v FEw
ar?

Options:
1 % 30000
2.« 60000
3 % 18000
A % 54000

Question Number : 108 Question Id : 9983675912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTUT o7 WTUOT =017 9 T 1500 T HUT 3g-F Jst & e o Soger o= #r 27 3 ofe
3HA HUT HAY & 3 H 0 & & A T 960 T A AT &, O a1 ¥ ¥ g
g7 9dar F?

Options:

1. v 8
2. % 6
3 x 7



Question Number : 108 Question Id : 9983675912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arun took a loan of ¥ 1500 with simple interest for as many years as the rate of interest. If he paid T 960 as interest at
the end of the loan period. what was the rate percent of interest per annum?

Options:
1.~ 8

Question Number : 109 Question Id : 9983675913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money lent at compound interest for 2 years at 20% per annum would fetch ¥ 1205 more, if the interest was
payable half yearly than if it was payable annually. The sum (in T ) is:

Options:
1. = 10000

7 % 20000

3. % 40000

4. » 50000

Question Number : 109 Question Id : 9983675913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s AT uffr &t 20% a1 wegfe o= a7 W 2 o & fov 3ur &3 W T 1205 #fYe g g
g, Rt = &7 wfaed & see awdEf¥E g oo o @ &) T H

Options:



1. « 10000

2 %« 20000
3. % 40000
4. « 50000

Question Number : 110 Question Id : 9983675914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money invested on compound interest at a particular rate grows to 3 172800 in six years and to ¥ 100000 in
three years. What is the rate of interest?

Options:
1. = 12%

7 % 16%

3. ¢ 20%

A % 24%

Question Number : 110 Question Id : 9983675914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e ARaa U & Y @ W Trgfe soa W A9y + & o a9t &7 172800 A I awt &
T 100000 Br ST &1 =TS 8T I 1
Options:

1. = 12%



2 % 16%
3. v 20%

4. % 24%

Question Number : 111 Question Id : 9983675915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following figure shows two concentric circles with centre O. PQRS is a square inscribed in the outer circle. It also
circumscribes the inner circle. touching it at point B, C, D and A. What is the ratio of the circumference of the outer
circle to that of the perimeter of ABCD?

7N
N\

P

b

s R
Options:

1 = =n:4

? % m:8

3. ¢ n:2

Question Number : 111 Question Id : 9983675915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



At & 7% Apfa F O FT &Y Hebfed e golar 21 PQRS @l Jed H &« Th F7T gl
g HAR® e & off IR Far &, 3R 3@ Bg B, C, D 3k A = ¥t #=ar #1 ABCD
#r o F Jry TRl goa Hr N F e @1 F2

P Q

7N
N\

s R
Options:
1. = mw: 4
2 % m:8
3. v m:2
4 = mw:6

Question Number : 112 Question 1d : 9983675916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an equilateral triangle, three symmetrical sections are cut as shown. What is the ratio of the shaded region to that of
the equilateral triangle as fraction?

\

e

\

Options:



1. v 1_;3
2. % 1+:z'§
3 x 175
4. % 1t5

Question Number : 112 Question Id : 9983675916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wAeg egsr &, e wRfAT wEt #F A9 geftia srpfe F seEn Fer g s F s oA
orifea & AR wHeg Pes #1 Aqud gar #1?

\

ot

\

Options:
T
1. v 17
T
5 x L
T
3. o= I_E



Question Number : 113 Question Id : 9983675917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two circles of radius 5 cm each intersect each other as shown in the figure. The area of the overlapping (shaded) regions
so formed is:

Options:

1. v ZSG_?)

Question Number : 113 Question Id : 9983675917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 cm =3 I @ 309 T X FI Wia=oe Fd & o o g 7 e mar g1 sifaenrd
(TraifeRd) ST FT &9%er IaT H1{|

Options:

1. v ZSG_?)



3. % ZSG_?)

Question Number : 114 Question 1d : 9983675918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 men engaged by a contractor A can do a piece of work in 10 days by working for 14 hours a day. 16 men engaged by
a contractor B can do the same work in 5 days working 9 hours a day. 7 men from contractor A were entrusted with the
work by spending 15 hours a day, but they could work only for 8 days. Then 8 men from contractor B where engaged to
complete the work by spending the same duration per day as that by the previous group. In how many days the work got
completed?

Options:
1. = 10

2.v 1l
3. % 12

A4 = 13

Question Number : 114 Question 1d : 9983675918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHERX A AN FH W W 12 [/ TF & H 0F &7 F 14 0 F17 &+ 10 oA & 7w &= 7 &
SHeR B AN F1H T W 16 Y 30 F H TF fod # 9 9 FIH H4+ 5 feal # 0 & ¥ &l
SFRRAF TR R G RAA ISR FAFRIFRTFF @ o, 3T I 579 8 fem & s =
are| T 3% B & W 8 *V Nod Tag AW & ¥ia BT 307 & w6 F1 w3 w19 # 9 7
T AT A H & e B F FH 9@ gem?

Options:




2. v 11
3 o= 12
4 = 13

Question Number : 115 Question Id : 9983675919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 men., 8 women and 14 boys can complete a certain work in 5 days. A woman does double the work a man does and a
boy does half the work a man does. How many women alone can complete this work in 25 days?

Options:

1. = 1

L

2 % 10

n

3. %

4 v 3

Question Number : 115 Question 1d : 9983675919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 979, 8 AfgAT 3T 14 75F TF FF H 5 A F [ W THS 81 TF Afgel TF W ¥ G FH
FIAT § AN UF FH UF TIW F ;T FH FLaT ¢ ar 91 F F e ash Afgen? sw wd #+v 25
fE & T = Fewar §7

Options:

1. = 15




Question Number : 116 Question Id : 9983675920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A car of length 4 m wants to overtake a trailer truck of length 20 m within 12 seconds. The truck is travelling at a speed
of 108 kmph.. At what speed should the car travel?

Options:

1. = 12m/s

? % 24ms

3 ¢ 32mis

4 = 36m's

Question Number : 116 Question Id : 9983675920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF 4 m 8 F 12 TFs F a7 20 m o9 TN TF T A FAeporar argar &1 o v a1f3 108 kmph
g Tar L T o ¥ HEY e F T #X # afa e g9 =g

Options:

1. = 12 m/s

7w 24 mis



3 v 32 mis

4. = 36 mis

Question Number : 117 Question Id : 9983675921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A boat can go 5 km downstream and 4 km upstream in 36 minutes. The boat can also travel 10 km downstream and 2 km

upstream in 28 minutes 48 seconds. What is the ratio of the speed of the boat in still water to that of the stream?

Options:
1.« 3:2
? % 4:3
3. % 6:5

4 = 9:8

Question Number : 117 Question Id : 9983675921 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
Us A1 36 fAde & 5 km gfawag X 4 km 3[9aTE S Tehdr g1 9@ A9 28 fRAT 48 s F 10 km
Sfa9arg 3R 2 km HFFAE ST Whar g1 A Hr TR 9=l A wag A ges o afa F Hgaa 969 12

Options:
1. v 3:2
2 % 4:3



Question Number : 118 Question Id : 9983675922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A starts walking at 5 kmph, and 5 hours later, B starts cycling in the same direction and from the same point as that of A
at 10 kmph. After how much distance (in km) will B catch up with A?

Options:
1. = 40

2.v 50

4 = 10

Question Number : 118 Question 1d : 9983675922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, 5 kmph & 71fF & @ F HaT § 3R 5 ¢ TG, @ F A F T F v or, B ofr 34 fgaw
T 10 kmph #r aify & FEfre T 9% Far 81 B Frae g (km #) 91€ A F @1y gemm?

Options:

1. = 40
2. v 50
3 = 25



Question Number : 119 Question Id : 9983675923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following table shows the number of seats reserved in different classes in a train on five
different days. The capacity of each class is given in the bracket.

Day 2ud 1# AC AC AC
Class | Class II1 1I 15
Non- | Non- | Tier | Tier | Class

AC AC | (500) | (250) | (150)
(200) | (500)

Monday 750 | 410 | 390 | 240 145

Tuesday 820 | 400 | 450 | 230 120

Wednesday | 730 360 | 480 | 220 130

Thursday 640 | 480 | 490 190 122

Friday J00 | 490 | 495 | 210 140

‘What is the ratio of the number of vacant seats in AC classes on Monday and Friday to the
number of reservations in non-AC classes on Tuesday. Wednesday and Thursday?

Options:
1. = 343:18

7 « 18:343

3 0w 343:9

4 = 9:343

Question Number : 119 Question Id : 9983675923 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 343 : 18

2 & 18 : 343

3. % 343:9

4. = 9: 343

Question Number : 120 Question Id : 9983675924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table shows the number of seats reserved in different classes in a train on five different
days of a particular week. The capacity of each class is given in the bracket.

Day 2nd 1% AC AC AC
Class | Class IIT I1 |

MNon- | Non- | Tier | Tier | Class
AC AC | (500) | (250) | (150)

(200) | (500)

Monday 750 410 390 240 145

Tuesday 820 400 450 230 120

Wednesday | 730 360 480 220 130

Thursday 640 480 490 190 122

Friday 700 490 495 210 140

What is the ratio of the seats remaining vacant on Monday, Thursday and Friday in all the AC classes
to that of the seats remaining vacant on Tuesday and Wednesday in all the Non-AC classes?

Options:
1. ¢ 139:245

7 % 187:280

Question Number : 120 Question Id : 9983675924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. «» 139 : 245

2 % 187 : 280

3 % 3:7
d. » 2:9
General Englishi
Group Number : 7
Group Id: 998367243
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 998367249

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367361
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9983675925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that conveys the meaning of the underlined
idiom.

He was very aggressive in the beginning but when the
principal arrived he changed his tune.

Options:

1. = started singing

2. = sang a different song
3. v adopted a different attitude
4. = did not give in to pressure

Question Number : 121 Question Id : 9983675925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that conveys the meaning of the

underlined idiom.

He was very aggressive In the beginning but when the

principal arrived he changed his tune.

Options:

1. = started singing
2. » sang a different song
3. v adopted a different attitude

4. = did not give In to pressure

Question Number : 122 Question Id : 9983675926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that conveys the meaning of the underlined
1diom.

Our car turned turtle several times when it was hit by
another speeding car.

Options:

1. = avoided an accident
2. = turned sideways

3. » moved ahead

4. v turned upside down

Question Number : 122 Question Id : 9983675926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that conveys the meaning of the

underlined idiom.

QOur car turned turtle several times when 1t was hit by

another speeding car.

Options:

1. = avoided an accident
2. % turned sideways
3. = moved ahead

4. v turned upside down

Question Number : 123 Question Id : 9983675927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

He pretended to be a very honest person, but it did not take
me long to his intentions.

Options:

1. = see into

2. v see through
3. = see about
4, = see over

Question Number : 123 Question Id : 9983675927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option.

He pretended to be a very honest person, but it did not

take me long to his Intentions.

Options:

1. = see Into
2. v see through
3. * see about

4. = see over

Question Number : 124 Question Id : 9983675928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

I always the main points of my presentation before
going to any meeting.

Options:

1. * run over

2. % run hy

3. v run through
4. % run in

Question Number : 124 Question Id : 9983675928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

| always the main points of my presentation before

going to any meeting.

Options:



1. = run over
2. % run by

3. v run through
4. = run In

Question Number : 125 Question Id : 9983675929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct one - word substitution
for the given group of words.

One who does not tire easily

Options:

1. = Infallible
2. v Indefatigable

3. = Inevitable
4, = Indelible

Question Number : 125 Question Id : 9983675929 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct one - word substitution

for the given group of words.

One who does not tire easily

Options:

1. = Infallible
2. v Indefatigable

3. = |nevitable

4. = Indelible



Question Number : 126 Question 1d : 9983675930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

honorarium of Rs. 5000 was given to my father for
volunteering to help flood affected people.

Options:

1. = A an
2. = The, an
3. v An, the
4. = A of

Question Number : 126 Question Id : 9983675930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

honorarium of Rs. 5000 was given to my father for

volunteering to help flood affected people.

Options:

1. = A, an
2. = The, an
3. v An, the
4. = A, of

Question Number : 127 Question 1d : 9983675931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

Have you ever selected cheaper dish from menu
than one you really wanted?



Options:

1.+ a, a, the

2. % @, an, the
3. = g, the, an
4. % an, a, the

Question Number : 127 Question 1d : 9983675931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

Have you ever selected cheaper dish from
menu than one you really wanted?
Options:

1. v a, a, the
2. % a, an, the
3. = a, the, an
4, = an, a, the

Question Number : 128 Question Id : 9983675932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

We know the world only the window our mind.

Options:

1. = by, of
2. v through, of
3. # by, for
4. = through, by

Question Number : 128 Question 1d : 9983675932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option.

We know the world only the window our
mind.

Options:

1. = by, of

2. v through, of
3. = by, for
4. = through, by

Question Number : 129 Question Id : 9983675933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

We like to talk things external ourselves because
our minds are accustomed to flowing out the world.
Options:

1. = of, by, In

2. = of, to, with

3. v about, to, into
4, = about, with, in

Question Number : 129 Question Id : 9983675933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option.

We like to talk things external ourselves
because our minds are accustomed to flowing out

the world.

Options:

1. = of, by, In

2. = of, to, with

3. v about, to, Into
4. = about, with, In

Question Number : 130 Question Id : 9983675934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

My sister’s handwriting is neat, mine is very untidy.

Options:

1. v whereas
2. » despite
3. % 80

4. = therefore

Question Number : 130 Question 1d : 9983675934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

My sister’'s handwriting I1s neat, mine I1s very untidy.

Options:

1. v whereas



2. » despite
3. ® SO

4. = therefore

Question Number : 131 Question Id : 9983675935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

My friend did not get admission in the medical college, so she
decided to try Law :

Options:

1. = otherwise
2. v instead

3. = hence

4. = therefore

Question Number : 131 Question Id : 9983675935 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

My friend did not get admission in the medical college, so

she decided to try Law

Options:

1. = otherwise
2. ¢ Instead
3. ® hence

4. = therefore

Question Number : 132 Question Id : 9983675936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

“Is this dress for me?” “Yes, it 1s for 7

Options:

1. = him
2. % her
3. v you
4. = me

Question Number : 132 Question Id : 9983675936 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

“Is this dress for me?” "Yes, it I1s for

Options:

1. = him
2. = her
3. v you
4. = me

Question Number : 133 Question Id : 9983675937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

I just met a student of

Options:

1. » your
2. ¥ yours
3. = yourself



4. = you

Question Number : 133 Question Id : 9983675937 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

| just met a student of

Options:
1. = your
2. v yours

3. = yourself
4, = you

Question Number : 134 Question 1d : 9983675938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blank with the most appropriate option.

Although I have talent for music, I love listening to good
music.

Options:

1. » much
2. v little
3.« alotof
4. = many

Question Number : 134 Question 1d : 9983675938 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

Although | have talent for music, | love listening to

good music.

Options:
1. = much
2. v little

3. % a lot of

4. = many

Question Number : 135 Question Id : 9983675939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

he his friends know how to play football.

Options:

1. = Either, or

2. = Either, none
3. v Neither, nor
4, » Neither, or

Question Number : 135 Question Id : 9983675939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

he his friends know how to play football.

Options:

1. = Either, or



2. = Either, none
3. v Neither, nor

4, = Neilther, or

Question Number : 136 Question Id : 9983675940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive
voice.

Orange peel cleans the skin and improves blood circulation.

Options:
1. = The skin is clean and blood circulation improves by
orange peel.

2. * The skin can be cleaned and blood circulation can be
improved by orange peel.

3. v The skin is cleaned and blood circulation is improved by
orange peel.

4. = The skin is cleaned and blood circulation is improving by
orange peel.

Question Number : 136 Question Id : 9983675940 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence In

passive voice.

Orange peel cleans the skin and improves blood circulation.

Options:

1. = The skin I1s clean and blood circulation improves by

orange peel.



2. = The skin can be cleaned and blood circulation can be

iImproved by orange peel.

3. v The skin is cleaned and blood circulation is improved

by orange peel.

4. = The skin 1s cleaned and blood circulation 1s improving

by orange peel.

Question Number : 137 Question 1d : 9983675941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in active
voice.

I have not been told about the meeting by anyone.

Options:

1. = No one told me about the meeting.

2. v No one has told me about the meeting.
3. » No one had told me about the meeting.
4. = No one is telling me about the meeting.

Question Number : 137 Question 1d : 9983675941 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

active voice.

| have not been told about the meeting by anyone.

Options:

1. = No one told me about the meeting.

2. v No one has told me about the meeting.



3. * No one had told me about the meeting.

4. = No one I1s telling me about the meeting.

Question Number : 138 Question Id : 9983675942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported
speech.

My teacher said to me, “Are your parents going to attend the
PTA meeting tomorrow?”

Options:
1. = My teacher asked me if my parents are attending the PTA
meeting the next day.

2. = My teacher asked me if my parents were going to attend
the PTA meeting tomorrow.

3. » My teacher told me that my parents were going to attend
the PTA meeting the next day.

4. v My teacher asked me if my parents were going to attend
the PTA meeting the next day.

Question Number : 138 Question Id : 9983675942 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in

reported speech.

My teacher said to me, “Are your parents going to attend

the PTA meeting tomorrow?”

Options:



1. = My teacher asked me If my parents are attending the

PTA meeting the next day.

2. » My teacher asked me If my parents were going to

attend the PTA meeting tomorrow.

3. = My teacher told me that my parents were going to

attend the PTA meeting the next day.

4. v My teacher asked me If my parents were going to

attend the PTA meeting the next day.

Question Number : 139 Question Id : 9983675943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in direct
speech.

The boss told Rameet if he had come to ask for an advance, he
would not get it.

Options:
1. ¥ The boss said to Rameet, “If you have come to ask for an
advance, you will not get it.”

2. » The boss said to Rameet, “If you had come to ask for an
advance, you will not get it.”

3. = The boss said to Rameet, “If he had come to ask for an
advance, he will not get it.”

4. = The boss said to Rameet, “If you have came asking for an
advance, you will not get it.”

Question Number : 139 Question Id : 9983675943 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence In direct

speech.

The boss told Rameet if he had come to ask for an

advance, he would not get it.

Options:

1. v The boss said to Rameet, “If you have come to ask

for an advance, you will not get it.”

2. » The boss said to Rameet, “If you had come to ask for

an advance, you will not get it.”

3. = The boss said to Rameet, “If he had come to ask for

an advance, he will not get it.”

4. = The boss said to Rameet, “If you have came asking

for an advance, you will not get it.”

Question Number : 140 Question 1d : 9983675944 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into four parts.
Select the words/phrase that contains an error.

You are / preparing well / for your exams, / are you?

Options:

1. » You are

2. » preparing well
3. # for your exams,
4. v are you?

Question Number : 140 Question Id : 9983675944 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into four parts.

Select the words/phrase that contains an error.

You are / preparing well / for your exams, / are you?

Options:

1. = You are
2. % preparing well
3. = for your exams,

4, v are you?
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9983675945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

ALTRUISTIC

Options:

1. » uncharitable
2. » small hearted
3. ¥ humanitarian
4. = 11l - disposed

Question Number : 141 Question 1d : 9983675945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

ALTRUISTIC

Options:

1. = uncharitable

2. » small hearted
3. ¥ humanitarian
4. = |l - disposed

Question Number : 142 Question Id : 9983675946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

OBLITERATE

Options:

1. = construct



2. v destroy
3. = build
4, = Create

Question Number : 142 Question Id : 9983675946 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

OBLITERATE

Options:

1. = construct
2. v destroy
3. = build

4. = create

Question Number : 143 Question Id : 9983675947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

JUVENILE

Options:

1. = mature
2. » adult

3. = criminal
4. v youthful

Question Number : 143 Question Id : 9983675947 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

JUVENILE

Options:

1. = mature
2. % adult
3. = criminal

4, v youthful

Question Number : 144 Question Id : 9983675948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

COGENT

Options:

1. = disorganised
2. v convincing
3. » confusing

4. = ineffective

Question Number : 144 Question Id : 9983675948 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

COGENT

Options:

1. = disorganised

2. ¥ convincing



3. ® confusing

4. = |neffective

Question Number : 145 Question Id : 9983675949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

TURBID

Options:

1. v muddy

2. = clear

3. #= transparent
4. = clean

Question Number : 145 Question 1d : 9983675949 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

TURBID

Options:

1. v muddy
2. % clear
3. * transparent

4. = clean

Question Number : 146 Question Id : 9983675950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

CIRCUMSPECT

Options:



1. * meticulous

2. = judicious

3. v incautious

4. = discriminating

Question Number : 146 Question Id : 9983675950 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

CIRCUMSPECT

Options:

1. = meticulous
2. % judiclous
3. ¢ Incautious

4. = discriminating

Question Number : 147 Question Id : 9983675951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

SURREPTITIOUS

Options:

1. v forthright
2. = hidden

3. = sly

4. = stealthy

Question Number : 147 Question 1d : 9983675951 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

SURREPTITIOUS

Options:

1. v forthright
2. = hidden
3. ® sly

4, = stealthy

Question Number : 148 Question Id : 9983675952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

ADROIT

Options:

1. = skillful
2. = adept

3. v clumsy
4. = expert

Question Number : 148 Question Id : 9983675952 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

ADROIT

Options:

1. = skillful
2. % adept



3. v clumsy
4. = expert

Question Number : 149 Question Id : 9983675953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

INANE

Options:

1. = frivolous
2. = absurd
3. # pointless
4, v smart

Question Number : 149 Question Id : 9983675953 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

INANE

Options:

1. = frivolous
2. « absurd
3. # pointless

4. v smart

Question Number : 150 Question Id : 9983675954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

ODIOUS

Options:



1. = horrible
2. v agreeable
3. % Creepy

4. = foul

Question Number : 150 Question Id : 9983675954 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

ODIOUS

Options:

1. = horrible

2. v agreeable

3. ® creepy

4. = foul
Sub-Section Number: 2
Sub-Section Id: 998367363
Question Shuffling Allowed : Yes

Question Id : 9983675955 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the questions that follow.

The term “herd behaviour” comes from the behaviour of
animals in herds, particularly when they are in a dangerous
situation such as escaping a predator. All of the animals band
closely together in a group and, in panic mode, move together
as a umnit. It is very unusual for a member of the herd to stray
from the movement of the unit.

The term also applies to human behaviour, and it usually
describes large numbers of people acting in the same way at
the same time. It often has a connotation of irrationality, as
people’s actions are driven by emotion rather than by
thinking through a situation. Human herd behaviour can be
ohserved at large-scale demonstrations, riots, strikes, religious
gatherings, sports events and outbreaks of mob violence.
When herd behaviour sets in, an individual persomn’s
judgment and opinion-forming process shut down as he or
she automatically follows the group’s movement and
behaviour.

Herd behaviour in humans is frequently observed at times of
danger and panic; for example, a fire in a building often
causes herd behaviour, with people often suspending their
individual reasoning and fleeing together in a pack. People in
a crisis that requires escape will attempt to move faster than
normal, copy the actions of others, interact physically with
each other and ignore alternative strategies in favour of
following the mass escape trend.

A more obvious example of human herd behaviour occurs in
dense public crowds or mobs. Crowds that gather because of a
grievance or protest can invelve herding behaviour that
becomes violent. Psychologists posit that a “group mind” can
overtake a mob and embolden people to act in ways they
would not individually, increasing the likelihood that
situations become violent.

Sporting events can also create herd behaviour on a viclent
scale. The foothall hooliganism prevalent in Europe in the
1980s is a well-known example of sports-related herding
bhehaviour and viclence. Overzealous fans of foothall teams
often engaged in unruly or destructive behaviour in the name
of supporting their team and intimidating the rival team, to
the extent that people involved could be badly injured or even
killed.

Some historians helieve that Adolf Hitler purposefully took
advantage of herd behaviour psychology by planting a
significant number of undercover German officers in the
crowds at his speeches. These officers would enthusiastically
cheer for Hitler, and the rest of the crowd followed suit,
making it seem as if the entire crowd supported Hitler. These
speeches would then be broadcast to a larger public audience,
magnifying the effect.

Herd behaviour does not always have such harmful effects; it
can be influential in pecple’s every day, simple decisions. For
example, suppose that a family is walking down the street
looking for a restaurant to have dinner. If they pass a
restaurant that is empty and one that is relatively crowded
with patrons, they are far more likely to choose the crowded
one, on the assumption that it’s better because there are more
people there. Herding can he subtle in this way; it simply
involves people’s tendency to follow a crowd rather than
carve out an individual path in many situations.



Sub questions

Question Number : 151 Question Id : 9983675956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the phrase ‘move together as a unit’ mean?

Options:

1. = Moving individually

2. * Moving in small groups

3. v Moving as one group

4. = Moving one after the other

Question Number : 152 Question Id : 9983675957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a majority of cases, human herd behaviour’ indicates:

Options:

1. v rash behaviour

2. » mature behaviour

3. = well considered behaviour
4. = logical behaviour

Question Number : 153 Question 1d : 9983675958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is NOT true based on the

passage?

Options:

1. = There is no place for personal opinions in herd behaviour.

2. » Herd behaviour need not always be harmful.
3. v Mature adults are never part of a herd.
4. = Herd behaviour can be instigated.

Question Number : 154 Question Id : 9983675959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hitler is referred to in the passage as:

Options:



1. = an undercover German officer

2. v an example of using herd behaviour to get mass support
3. = an intimidator of the public during war time

4. = a concerned leader of his people

Question Number : 155 Question Id : 9983675960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How does herd behaviour affect sporting events?

Options:

1. = Players are inspired by the cheering crowds.

2. v Supporters of a team can become violent and frighten the
members of the other team.

3. = Players on the field do not pay any attention to the
crowds.

4. = Players play well to impress the crowds.

Question Id : 9983675955 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the questions that follow.

The term “herd behaviour® comes from the behaviour of
animals in herds, particularly when they are in a dangerous
situation such as escaping a predator. All of the animals
band closely together in a group and, in panic mode, move
together as a unit. It is very unusual for a member of the
herd to stray from the movement of the unit.

The term also applies to human behaviour, and it usually
describes large numbers of people acting in the same way
at the same time. It often has a connotation of irrationality,
as people’s actions are driven by emotion rather than by
thinking through a situation. Human herd behaviour can be
observed at large-scale demonstrations, riots, strikes,
religious gatherings, sports events and outbreaks of mob
viclence. When herd behaviour sets in, an individual person’
s judgment and opinion-forming process shut down as he or
she automatically follows the group’s movement and
behaviour.

Herd behaviour in humans is frequently observed at times
of danger and panic; for example, a fire in a building often
causes herd behaviour, with people often suspending their
individual reasoning and fleeing together in a pack. People
in a crisis that requires escape will attempt to move faster
than normal, copy the actions of others, interact physically
with each other and ignore alternative strategies in favour of
following the mass escape trend.

A more obvious example of human herd behaviour occurs
in dense public crowds or mobs. Crowds that gather
because of a grievance or protest can involve herding
behaviour that becomes violent. Psychologists posit that a
“group mind” can overtake a mob and embolden people to
act in ways they would not individually, increasing the
likelihood that situations become violent.

Sporting events can also create herd behaviour on a violent
scale. The football hooliganism prevalent in Europe in the
1980s is a well-known example of sports-related herding
behaviour and violence. Overzealous fans of football teams
often engaged in unruly or destructive behaviour in the
name of supporting their team and intimidating the rival
team, to the extent that people involved could be badly
injured or even killed.

Some historians believe that Adolf Hitler purposefully took
advantage of herd behaviour psychology by planting a
significant number of undercover German officers in the
crowds at his speeches. These officers would
enthusiastically cheer for Hitler, and the rest of the crowd
followed suit, making it seem as if the entire crowd
supported Hitler. These speeches would then be broadcast
to a larger public audience, magnifying the effect.

Herd behaviour does not always have such harmful effects;
it can be influential in people’s every day, simple decisions.
For example, suppose that a family is walking down the
street looking for a restaurant to have dinner. If they pass a
restaurant that is empty and one that is relatively crowded
with patrons, they are far more likely to choose the
crowded one, on the assumption that it's better because
there are more people there. Herding can be subtle in this
way; it simply involves people’s tendency to follow a crowd

rather than carve out an individual path in many situations.



Sub questions

Question Number : 151 Question Id : 9983675956 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the phrase ‘move together as a unit’ mean?

Options:

1. = Moving Individually
2. » Moving In small groups
3. v Moving as one group

4. = Moving one after the other

Question Number : 152 Question Id : 9983675957 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In @ majority of cases, ‘human herd behaviour’ indicates:

Options:

1. v rash behaviour
2. = mature behaviour
3. # well considered behaviour

4. = |ogical behaviour

Question Number : 153 Question Id : 9983675958 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is NOT true based on the

passage”

Options:

1. = There 1s no place for personal opinions in herd

behaviour.
2. » Herd behaviour need not always be harmful.

3. v Mature adults are never part of a herd.



4. = Herd behaviour can be instigated.

Question Number : 154 Question Id : 9983675959 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hitler 1s referred to in the passage as:

Options:

1. = an undercover GGerman officer

2. v an example of using herd behaviour to get mass

support
3. * an Intimidator of the public during war time

4. = a concerned leader of his people

Question Number : 155 Question Id : 9983675960 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How does herd behaviour affect sporting events?

Options:

1. = Players are inspired by the cheering crowds.

2. v Supporters of a team can become violent and frighten

the members of the other team.

3. = Players on the field do not pay any attention to the

crowds.

4, = Players play well to impress the crowds.

Sub-Section Number: 3
Sub-Section 1d: 998367364
Question Shuffling Allowed : Yes

Question Id : 9983675961 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the questions that follow.

An online identity, sometimes called an Internet persona, is
an identity established by a user to interact with others
through social media such as Facebook, Twitter, blogs, or
multi-player games. Although some people use their real
names online, many Internet users prefer to be
anonymeous, identifying themselves by pseudonyms. Some
users can be deceptive about their identity.

Users express online identity both explicitly and implicitly.
Users express themselves explicitly through usernames,
pictures, and the information about themselves that they
choose to give others, such as their hometown. They can also
explicitly express their identity by choosing an avatar, an icon-
sized graphic image, or by creating user profiles in social
media networks, such as Facebook. Implicitly, users express
their identity through what they say to other users and the
opinions they express. As other users interact with an
established online identity, it gains a reputation, which
enables them to decide whether the identity is worthy of trust.

Social networking services and online avatars have made the
notion of identity far more complex, because the identities
that people define in the social media are not necessarily the
identities that they actually have. For example, several studies
have shown that people lie about themselves in online dating
profiles, or in communication with potential partners. A
person may feel that she is able to lie about her identity on
the Internet because it creates a “mask”™ effect, where no one
can see her “true self.” Social theorists believe that whenever
an individual interacts with others online, she portrays a
mask of her identity, not her true identity.

This is partly due to the fact that in some online contexts,
such as Facebook, she must answer specific questions to
create an online profile. Further, as she begins to interact
with others, she adds more and more layers to her mask
through the vocabulary she uses and the topics she writes
about. The kind of mask one chooses, reveals at least
something about the person who chooses it. While the online
mask does not reveal the actual identity of the person, it does
reveal an example of what lies behind the mask. For instance,
if a person chooses to act like a rock star online, this may
mean that he or she has an interest in rock music. Even a
person choosing to hide behind a totally false identity says
something ahout the fear and lack of self-esteem he or she
may be experiencing.

Online identity offers potential social benefits to those with
physical and sensory disabilities, because others cannot see
them. These users can free themselves from their disabilities
hy creating online

personas that are not disabled. This is called
“disernbodiment,” and gives these users the opportunity to
operate outside the constraints of social stigmatisation. They
can be treated on their merits as a person, rather than being
seen as someone inferior due to a disability. Most concerns
about virtual identity revolve around the contrast hetween
online and offline existence. The ability to challenge the
notion of what “real” means has raised questions about how
virtual experience may affect one’s offline emotions.



Sub questions

Question Number : 156 Question Id : 9983675962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the difference between being anonymous and using a
pseudonym?

Options:

1p. = In both cases the real identity remains unknown.

2. v The real identity is unknown by being anonymous but it
i1s changed by using a pseudonym.

3. » Being anonymous is being implicit and using a
pseudonym one is explicit.

4. = By being anonymous one is safer and by using a
pseudonym one’s identity is not safe.

Question Number : 157 Question Id : 9983675963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A user expresses his/her identity implicitly when he / she:

Options:

1. = uses pictures and usernames.

2. = creates profiles on the social media networks.

3. v expresses opinions and reactions to what others say.
4. = does not reveal anything about him / herself.

Question Number : 158 Question Id : 9983675964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage, how have social networking services
made identities more complex?

Options:

1. » It is difficult to figure out the difference between real and
virtual identities.

2. * Some users use multiple identities.
3. » Some users send confusing messages.



4, = Many users tell lies about themselves on dating profiles.

Question Number : 159 Question Id : 9983675965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How does a user using a mask still reveal something about
himself / herself?

Options:

1. = If the user is not careful, he/she can reveal his/her
identity.

2. » The social networking services can find out their identity.
3. = Their online friends can recognise them.

4. v The user’s interests and fears, among other things, reveal
things about him / her.

Question Number : 160 Question Id : 9983675966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, how does online identity benefit
some people?

Options:

1. * They make many more friends online.

2. = Some people learn a lot from what they read and see
about other people.

3. v People need not reveal their disabilities.
4. = Even very shy people can express themselves.

Question Id : 9983675961 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the questions that follow.

An online identity, sometimes called an Internet persona, is
an identity established by a user to interact with others
through social media such as Facebook, Twitter, blogs, or
multi-player games. Although some people use their real
names online, many Internet users prefer to be
anonymous, identifying themselves by pseudonyms. Some

users can be deceptive about their identity.

Users express online identity both explicitly and implicitly.
Users express themselves explicitly through usernames,
pictures, and the information about themselves that they
choose to give others, such as their hometown. They can
also explicitly express their identity by choosing an avatar,
an icon-sized graphic image, or by creating user profiles in
social media networks, such as Facebook. Implicitly, users
express their identity through what they say to other users
and the opinions they express. As other users interact with
an established online identity, it gains a reputation, which
enables them to decide whether the identity is worthy of

trust.

Social networking services and online avatars have made
the notion of identity far more complex, because the
identities that people define in the social media are not
necessarily the identities that they actually have. For
example, several studies have shown that people lie about
themselves in online dating profiles, or in communication
with potential partners. A person may feel that she is able
to lie about her identity on the Internet because it creates a
“mask” effect, where no one can see her “true self.” Social
theorists believe that whenever an individual interacts with
others online, she portrays a mask of her identity, not her
true identity.

This is partly due to the fact that in some online contexts,
such as Facebook, she must answer specific questions to
create an online profile. Further, as she begins to interact
with others, she adds more and more layers to her mask
through the vocabulary she uses and the topics she writes
about. The kind of mask one chooses, reveals at least
something about the person who chooses it. While the
online mask does not reveal the actual identity of the
person, it does reveal an example of what lies behind the
mask. For instance, if a person chooses to act like a rock
star online, this may mean that he or she has an interest in
rock music. Even a person choosing to hide behind a totally
false identity says something about the fear and lack of self-

esteem he or she may be experiencing.

Online identity offers potential social benefits to those with
physical and sensory disabilities, because others cannot see
them. These users can free themselves from their
disabilities by creating online

personas that are not disabled. This is called
“disembodiment,” and gives these users the opportunity to
operate outside the constraints of social stigmatisation. They
can be treated on their merits as a person, rather than
being seen as someone inferior due to a disability. Most
concerns about virtual identity revolve around the contrast
between online and offline existence. The ability to challenge
the notion of what “real” means has raised questions about

how virtual experience may affect one’s offline emotions.



Sub questions

Question Number : 156 Question Id : 9983675962 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the difference between being anonymous and using

a pseudonym?

Options:
1. = In both cases the real identity remains unknown.

2. v The real identity 1s unknown by being anonymous but
it 1Is changed by using a pseudonym.

3. = Being anonymous is being implicit and using a
pseudonym one I1s explicit.

4. = By being anonymous one Is safer and by using a

pseudonym one’s identity is not safe.

Question Number : 157 Question 1d : 9983675963 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A user expresses his/her identity implicitly when he / she:

Options:

1. = uses pictures and usernames.
2. % creates profiles on the social media networks.
3. v expresses opinions and reactions to what others say.

4. = does not reveal anything about him/herself.

Question Number : 158 Question Id : 9983675964 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the passage, how have social networking services

made identities more complex?

Options:



1. ¢ It 1s difficult to figure out the difference between real

and virtual identities.
2. » Some users use multiple identities.
3. = Some users send confusing messages.

4. = Many users tell lies about themselves on dating profiles.

Question Number : 159 Question Id : 9983675965 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How does a user using a mask still reveal something about

himself / herself?

Options:

1. = If the user 1s not careful, he/she can reveal hisfher
identity.

2. »= The social networking services can find out their
identity.

3. # Their online friends can recognise them.

4. v The user’s interests and fears, among other things,

reveal things about him / her.

Question Number : 160 Question Id : 9983675966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, how does online identity benefit

some people?

Options:

1. = They make many more friends online.

2. » Some people learn a lot from what they read and see

about other people.



3. v People need not reveal their disabilities.

4. = Even very shy people can express themselves.
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Question Number : 178 Question Id : 9983675984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STl AT Thd TR T a1 87

Options:

1. = TAY 197
2. % GYh oATH
3. ¢ el qTdY
4, = IUATF

Question Number : 178 Question Id : 9983675984 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Feol INSATI” FT T T ared g7

Options:

1. » T8 g

2. % chrd GIER)



3. v el Ty

4. = IUdreRT

Question Number : 179 Question 1d : 9983675985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCShH T &8 & I 9T a1 g 37

Options:

1.« R ot S T8 Mer @ 2
2.« 3 el oSt T R @ 2
3. « T8t Firer 8T & B St wd
4. « TEF Frer 8 T S S 4

Question Number : 179 Question Id : 9983675985 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yeshA T ECC A e AT AT A §7

Options:

1. « A g FraAdr 787 Fer @ g
2. v By ShrAar gar 781 e @ gl
3. = oIgl THel T § AT AT =8I
4. = oTgl TAer TGr § hTAdT =987 &7

Question Number : 180 Question Id : 9983675986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

3~ T &8 I I AT a1 e 872

Options:

1. * AT T&AD UGHT gl 3Tl
2. % T T&AD UG Agi ATd]
3. » JHDT JETD UGHT TG 3Tl
4. v U TETDH UGHT g1 Tl

Question Number : 180 Question Id : 9983675986 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




3ead 1 TCC @ hie @ AHT UF &7

Options:

1. = JHS JEAF UGaT gl 3Tc|

. % JH® TETh Ugal olal 3|

=

)

2
3. % THI TER TGl el 3T
4

. v JHR TEIF Tl el 3T

e

General Hindi?

Group Number : 10
Group Id: 998367246
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 998367252

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367366
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9983675987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NICIERCIREIRCICTS

Options:



1. = IJTRHT
2. v Ug[ThY
3. % THTHT

4, » GUTIT

Question Number : 181 Question Id : 9983675987 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl T gATIaT &7

Options:

1. = ToadlhY

2. v TTRT
3. % THTRT
4. % FART

Question Number : 182 Question Id : 9983675988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M B TAer! Tal &

1. * gra
2. % T8
3. v Sell
4, = ZUaT

Question Number : 182 Question Id : 9983675988 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T TEET T8 &

1. = &4
2. = Toyel

3. v Soll



4. = &TUTET

Question Number : 183 Question Id : 9983675989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

“orrSer Redrepr rataard 32

Options:

1. v &8
2. % gd
3. » °q
4., = T

Question Number : 183 Question Id : 9983675989 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mo ToraenT TATET=T &7

' . fis
2. % I
3. % Teog
4,

Question Number : 184 Question 1d : 9983675990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STl Tt Tt g2

1. % &=l
2. % qaI
3. = oF&HT
4, v &

Question Number : 184 Question 1d : 9983675990 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:



% GTAr
GCY
oT&AT
v GTEIAT

ol
#®

Question Number : 185 Question Id : 9983675991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = g
2. v TS
3. % 43
4, % Tt

Question Number : 185 Question Id : 9983675991 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ST [hTRT gATIART dal &7

Options:

1. = &I
2. v GUS
3. = g3
4, = TeRYOT

Question Number : 186 Question Id : 9983675992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T’ BT Telelld 2Iee B

Options:

1. = YiddR
2. = Qiddrd
3. v Uideld




4, % Felld

Question Number : 186 Question Id : 9983675992 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ma_loﬁa-l’ w7 [TNH ereg &:
Options:

1. = Ui

2.
3. v giaenH
4.

Question Number : 187 Question Id : 9983675993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Mg T TeleT A g

Options:

1. = gd

2. % 3Mgd
3. % IMTEd
4. v 3ATgd

Question Number : 187 Question Id : 9983675993 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g T T g

Options:

1. = g
2. = 3gd

4, v 3elTgdd
Question Number : 188 Question Id : 9983675994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘SMTeATer Thgdr el g2



Options:

1. v TaHTer
2. * UTGHTA
3. % 3gd
4. * ogld

Question Number : 188 Question Id : 9983675994 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. v fToema
2. = AIgHI
3. » 3gd

4, « gZd

Question Number : 189 Question 1d : 9983675995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T TaaTg DI SUY 31’ Ulch o LT Qe T [eelid gH:

Options:

1. = 3OALh
2. % eUcdEh

3, % g
4, v qITh

Question Number : 189 Question Id : 9983675995 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ATl T 9T Flefelel 3T 1’ Gl o IBMMheT ersg

Toenter glem:

Options:

1. = HIIEH

2. * 3eYcd¥eh



3. » g4
4. v dIEhR

Question Number : 190 Question Id : 9983675996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘arfap T Fre T

Options:

1. = g+
2. % 3G
3.vd¥
4, % Goprsl

Question Number : 190 Question Id : 9983675996 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T 1 AaH &
Options:

1. = glfal

2. * 3G
3. v °lH
4. = TR1eT

Sub-Section Number: 2
Sub-Section 1d: 998367367
Question Shuffling Allowed : Yes

Question Id : 9983675997 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

QQuestion Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

TIETHT JerTdIed Aol # &g, dieren, Hilden, AT, THIST 319 &@1g 7
STUT P ST I+ aTet eTeh AIgl gl o aF U 31TELT JUTST i TdeuT
PR g STgl a3 § oY U gh &t 370+ SHeEaar YeraR Ueh gt 91 38 g &1
| At afkereusT aF 3rrer o gietner 31 AgTeniar Jedt i ST ek g SITeq
ST & & &, Ol GHSIA 31 3 Ueh UF ZIGET § it 370 Ueier red hi
S[BIIT g1 “Tie: @I AT AT AT F dd g 3N Wigd, TITPHR 1T
ST & 3T Hefed Teh Uga SITd gl JordT & TH HITT TOUNTH TH g ST
ST T @ [elq & T U ST To1U g0 gl Jerd! THeanyg § U4
YTq 3MTes, UTd 3ITesl, Tdl ATEST ATTe, DI [Ssh e g 11 AT WY T iep
ST 3T 31 STgT eich & A HIEATh § HIS-WTS & YT SHTEY W UST 2
gl Jerdl 39 THTEIAT & aXard UHT 3MTel Tegd i g St ¥ Tl
qiigcd FT % & [hdl 9t Giged & Ta1 WetdTl TH 3R 9T &1 [Her

3R T T Tadg g1 STHT, G- Yol W DT TR HIS TH & 00l §
TIRAT 3R W ERT 3+g -1 Mol &THT 3MTTe, UL 8l 3esl 21 Teddreil
e Bad] BT 35,87 TeHdT Tgd Udh UL GATS &f UIdheuT It gl
Teler qUTe 3l

Sub questions

Question Number : 191 Question Id : 9983675998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Terer # forg did @ 3o 57?

Options:

1. v Jordie™
2. % YIE
3. * BRI
4, * &9

Question Number : 192 Question Id : 9983675999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATEIAT & 37 &

Options:



1. = THZaT

2. ¢ AT
3. % Yy

4, % guT

Question Number : 193 Question Id : 9983676000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 3T 3

Options:

1. v AR
2. % Ul
3. % AT
4. % e

Question Number : 194 Question Id : 9983676001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeg STt ST T 31T 3

Options:

1. * gog ol YTH gI-T
2. % IGIhdT & T ST
3. % ST YTI0T T

4, v JGT® 91l 9 o gh SJr

Question Number : 195 Question Id : 9983676002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

eI Teh did (g GHATS P TIXpeu-T Bd 3

Options:

1. » EIq=AdTHeAD
2. v GHATHeID

3. * A erd
4. » TETdHAD

Question Id : 9983675997 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No




Question Numbers: (191 to 195)

Question Label : Comprehension

sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

INEATAT Jordilere Fepedl # afgeh, ik, #ifaek, drr, TATS
3H PTE o T FEeh oI Blal ATl eTTFd oal &l o ar oF
3Rt FATST kT IRFeTaT FId & 6T RIS & off 97 g ar
ST SHTETAT elshd Teh &1 1Y I§ @ &Il VT IRehedar ar
3ot o1 HiRFor &1 AGIRIA JaT ffoh STal Fid & SATIT STaacl
® W & N GAFD &1 F TR OF JIESET § S T dee
e T LB & Faicl: R Jord! Tt e & Fd 8
AT WEA, WIhR 9T AR T 39a0 Aded dob q§t4 ST Bl
Terdl & A FATET TENIcadd TH § ST S Fedior & o g
Al 9 3adR folv gv g1 Jordll TATRTATTH H UH #1g
eet, afa ameel, ucar aneet anfe =1 o 9 & S M= o
QT TdIeh &l &l g1 S8l SATod o Hel HARXISh H HAB-HE +
Vil dHATET T ST § T&1 Joldl 36 JHaET F slhy VT
el yEqd Fd & S R Redr-arigcy F4r faeg & oy oy
gifecd # 81 THerdTl TA 3R 91T 1 e 30T gl &1
fadg & SIel, gU-g4 el #d FT RN H13 TH K 0N
# e 3T UF c@rT 3¢ IR-GR el o@lar 37 0F g
el &1 ACThTollal HFd HIAAT FT 322 R[YAQT IEd T 0F
GHTST T ghevaT o7 Jar 998 IAda &l

ATl H Tohd hid T ool {7

Sub questions




Question Number : 191 Question Id : 9983675998 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H TohE Hid HT ool &7

Options:

1. v JoEEHE
2. » TEM
3. % SheNaH
4. = NG

Question Number : 192 Question Id : 9983675999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘THAEIAT &7 7T &

1. = TA=ar

2.@%1_?|DT-IT
3. % e
4. = gom

Question Number : 193 Question 1d : 9983676000 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘A’ T ;e &

Options:

1. v 99T
2. % heddl

4, = LT
Question Number : 194 Question Id : 9983676001 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Taeg ST ST T IR &

Options:




% T T ATCT grell

« HIETERAT & IH ST
¢RIT IUT eIl
v G aar d [Aad & S

Question Number : 195 Question Id : 9983676002 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AEghTelld HFd HId [hd TATS =l Tihedel Hid &

Options:

1. = FAdeAdTHel<h

ol
#®

2. ¢ HHAITH TR

3. % ﬁtla-ldla-l“wh

4. = TIATTHAR

Ty,

Sub-Section Number: 3
Sub-Section 1d: 998367368
Question Shuffling Allowed : Yes

Question Id : 9983676003 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

QQuestion Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

Tg=<I HTigcd # SITagINeD 3Tell<HT &l IS WIS & e e (1883
0) ¥ AT SITAT gl 3Tello T & &7 # Ig DI I T3T TS g3 TerT
Tal 4N 3 YRAS ¥ Ud g% YegiTdd SMTell<iT Y 3™ hich el
T IS T3 TBYH Tl AR i ST Fehcll §H 3T 3MMella=T h Ter€y
TeleT ehl FHSTd GU 3T SGAT ATl WIS G & Yel ige, et #
ST €T Ydield o, I ATdrel = oT&0T Tt dht TiuTe! U &1 G<hd Hliged 4
ATdenTel T Tergel FTHUT UTH §S o ATdehTell MTITIT 7 diadr et
TTYTIUITSI hl SATEAT 3vg! T&UIAT & Bl g1 UTdDIeiT el aT T
HgcaT YUl red TSN thl <ThT U & id i TAGTcHD Iichdl qdT el
=T &l T IFTER Bl T4

Sub questions

Question Number : 196 Question Id : 9983676004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTETTST T eI AU 3

Options:

1. * diadr
2. % @gMT
3. v 3(TeT
4. » F&y

Question Number : 197 Question Id : 9983676005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tayer T 3re 3

Options:

1. = hH

2. % 3IT8®H

3. v 9gd 3ATdd
4, = AT

Question Number : 198 Question Id : 9983676006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



“TIuTer @1 37 &

Options:

1. v 7T

2. % TANT
3. % qhel
4. % dTeET

Question Number : 199 Question Id : 9983676007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ST T 3T &

Options:

1. * e Tl

2. » g

3. * Tel grum
4., v o= &R

Question Number : 200 Question Id : 9983676008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NS # WRd~g 9 Jel b 3MTeTI<=T &l Seeld 372

Options:

1. » SITAGIND AT T

2. v AgI=dd ITelre=T

3. » GATIALATHIT ATeATAT
4. » FISYUUTCHD ATeATeHT

Question Id : 9983676003 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

fe=dr arfgca A cATage 3Melwell &1 3&7 9Ndg & foeay
‘ATch (1883 To) & HATAT AT gl AT & &F H Ig§ Hls
IS AT T g faur A o i ARG ¥ @6
FgTicier 3Tell<ell T STl Fleh 3ellaell =T Hig 5 Yoo
el AT T ST Fhdll &H 3T AT & &Y T [FhrT Y
mﬁgtrmmirr%m Hdg o1 § 9 fgeal 3fell<rar A
ST &7 yafelad o, @ Jfaeereiler of&TorT T2t hr 9RO T I
HEF dliged & fcrerrer T fager el gred g‘é g
faerrea 3t & wiaar gy srgaromst fr sarEar 396
SETOTITAT F k1 g fdAFTellel el YHZET: Heca Ul FTed
T3 FT EepT ugfad @ g I werdcAs STFadl T oefor
P2l hT YN FelTehd T AT

Sub questions

Question Number : 196 Question Id : 9983676004 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST T e fawr &

Options:

1. = sigdr
2. % halal
3. v 3Telar
4, = Tolerer

Question Number : 197 Question Id : 9983676005 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁg?»r T 3T &

Options:



x T
x 3R
ag?raiﬁﬁﬁ
% forergror

ol
<

Question Number : 198 Question Id : 9983676006 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TRUTE &7 37T &

1. ¢ 927
2. = TET
3. % alehel
4. = gfersey

C

Question Number : 199 Question Id : 9983676007 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HTIRO T 3T &
Options:

1. % hedal

2. = qaTIg

3. = qd YR
4.$gﬁam?r%rm

Question Number : 200 Question Id : 9983676008 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eI A Rcdeq & q9 FhE 3Tellerel T Seold &7

Options:

1. % TYEEINeR Tl

2. v Tgifedesr 3Tell<ial



3. % GHTSTLIEART 3Tel=<rar

4. » HAITAOYNUTcHS Toll<lall



